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B.A./B.Com./B.Sc. DEGREE EXAMINATION, MAY  - 2015 

Final Year 

Paper – II : SCIENCE AND CIVILIZATION 

Time : 1  Hours                                                         Maximum Marks : 50 

                                                                 Section – A       (2×13 = 26) 

Answer any two of the following in sixty lines 
 

1) What is satellite? Write about types and uses of satellites. 

 Ô>sìýOÌñýsŒý A @̄þV>¯óþÑ$? Ô>sìýOÌñýsŒý Eç³Äñý*V>Ë$, ÆæÿM>Ë Væü*Ça {ÐéÄ¶ý¬Ð@þ¬. 

2) Write an account on Antibiotics and development of drugs.  

       ÆøVæü °Æø«§æþM>Ë$ Ð@þ$ÇÄ¶ý¬ LçÙ§éË AÀÐ@þ– ®̈ Væü*Ça çÜÐ@þ$“Væü ÐéÅçÜÐ@þ¬ {ÐéÄ¶ý$…yìþ. 

3)    Solar energy is an upgrowing source of energy-Discuss. 

   ÝûÆæÿÔ¶ýMìü¢ {ç³Ð@þ¬Q {ç³™éÅÐ@þ*²Ä¶ý$Ô¶ýMìü¢ A° ÑÐ@þÇ…ç³#Ð@þ¬. 

4)    What is the growth of new civilization in ancient ages and Modern ages? 

 {´ë`¯@þÄ¶ý¬Væü…, Ð@þ$ÇÄ¶ý¬ B«§æþ$°Mæü Ä¶ý¬Væü…ÌZ ¯éVæüÇMæü™èþ GÌê AÀÐ@þ– ®̈ ^ðþ…¨…¨. 

5)    Write short notes on  components of computers. 

 Mæü…ç³NÅrÆŠÿ &A…™èþÆ>ÂV>Ë$ Væü*Ça  çÜÐ@þ$“Væü ÐéÅçÜ… {ÐéÄ¶ý$…yìþ. 

6)    Describe about electron discovery and give properties and application of     X-Rays.  

 GË“M>t̄ Œþ BÑçÙPÆæÿ×ý GÌê fÇW…¨? X ---& MìüÆæÿ×êË Äñý¬MæüP Ë„æü×êË$, Ð@þ$ÇÄ¶ý¬ A¯@þ$Ð@þÆæÿ¢̄ éË¯@þ$ ÑÐ@þÇ… è̂þ…yìþ. 

                                                               Section – B       (3×4 = 12) 

Answer any three of the following 

7)  Write short notes 

 a) Test tube baby. 

  sñý‹Üt r*Å»Œý »ôý¼ 

 b) Semi conductors. 

  òÜÑ$ Mæü…yæþMæütÆŠÿÞ 



 

 c) Vaccination 

  sîýM> Ð@þ$…§æþ$Ë ÐéyæþMæü… 

 d) Green Revolution. 

  çßýÇ™èþ Ñç³ÏÐ@þÐ@þ¬ 

 e) Tidal energy 

  ™èþÆæÿ…Væü Ñ§æþ$Å™Œþ 

 f) Drug addiction 

  Ð@þ*§æþMæü {§æþÐéÅË Ð@þÅçÜ¯@þ… 

 g) Soaps and detergents 

  çÜº$¾Ë$ & yìþrÆðÿj…r$Ï 

 h) Laser’s –Uses 

  ÌôýfÆæÿ$Ï & Eç³Äñý*V>Ë$ 

i) Biodiversity 

iÐ@þ OÐðþÑ§æþÅ… 

                                                                Section – C       (3×4 = 12) 

Answer all Questions 

8)     Fill in the blanks. 

a) Noise level of motor cycles ________ db. 

  Ððþ*sêÆŠÿ OòÜMìüÌŒý Äñý¬MæüP «§æþÓ° ¡{Ð@þ™èþ _______ yðþíÜ»ñýÌŒýÞ 

 b) Explosion of Bomb is caused by _______. 

    »ê…º$ ÑÝù¹r @̄þ ^èþÆæÿÅ   _______  Ð@þË¯@þ fÆæÿ$Væü$™èþ$…¨. 

 c) M.S. Swaminathan is associated with _______. 

  M.S. ÝëÓÑ$¯é£æþ¯Œþ _______  çÜ…º…««©Mæü$Ë$ 

 d) DDT was discovered by ______. 

         DDT  ° Mæü¯@þ$Vö°¯@þ¨  _______ 

 



 

9)    Choose the correct answer: 

a) The Heart of the computer is 

i) Key board 

ii) Mouse 

iii) CPU 

iv) Printer 

       Mæü…ç³NÅrÆŠÿMæü$ C¨ Væü$…yðþÐ@þ…sìý¨. 

i) Mîü»ZÆæÿ$z 

ii) Ð@þ˜‹Ü 

iii) CPU 

iv) {í³…rÆŠÿ 

b) What is the main metal used in the chalcolithic Age 

i) Copper 

ii) Zinc 

iii) Iron 

iv) Gold 

      béÌZPÍ¤MŠü Ä¶ý¬Væü…ÌZ Ð@þ¬QÅ…V> Eç³Äñý*W…_¯@þ ÌZçßýÐóþ$¨. 

i) Æ>W 

ii) h…MŠü 

iii) C¯@þ$Ð@þ¬ 

iv) º…V>Ææÿ… 

c)    Naturally occurring Vitamin 

i) Vit A 

ii) Vit B 

iii) Vit D 

iv) Vit C 

 {ç³Mæü–† íÜ§æþª…V> ËÀ… è̂þ$ ÑrÑ$¯Œþ 

i) Vit A 

ii) Vit B 

iii) Vit D 

iv) Vit C 



 

d) It is used for blasting purposes 

i) Dynamite 

ii) Chlorine 

iii) Rubber 

iv) Steel 

 ©°° ÑÝùµsêËÌZ Eç³Äñý*WÝë¢Ææÿ$. 

i) Oyðþ¯@þOÐðþ$sŒý 

ii) MøÏÇ¯Œþ 

iii) Ææÿº¾ÆŠÿ 

iv) ïÜtÌŒý 

10)   Match the following. 

a) FORTRAN. COBOL i)  Alfred Nobel 

b) Dynamite ii) Computer 

c) Vitamin A iii) DNA, RNA 

d) Nucleic acids iv) Night blindness 

 

a) FORTRAN, COBOL i) BÌŒý {òœyŠþ ¯øºÌŒý 

b)    Oyðþ @̄þOÐðþ$sŒý ii) Mæü…ç³NÅrÆŠÿ  

c) ÑrÑ$¯Œþ A iii) DNA, RNA 

d) Móü…{§æþM>Ð@þ*ÏË$ iv) Æóÿ`Mæüsìý 

 

 

 

 



  

(DBC 31) 

B.Com. DEGREE EXAMINATION, MAY - 2015 

(Examination at the end of Final Year) 

Part - II : COMMERCE 

 Paper - III : Business Laws 

Time : 03 Hours  Maximum Marks : 80 
     

                                         Section - A (4 x 4 = 16) 

Answer any Four of the following 

1) Consensus-ad-idem. 

 çÜÆæÿÓçÜÐèþ$Ã†. 

2) Finder of Lost Goods. 

 ´ùÆÿ$$¯èþ ÐèþçÜ$¢Ðèþ#Ë$ §öÇMìü¯èþ ÐèþÅMìü¢. 

3)  Essential commodities. 

 °™éÅÐèþçÜÆæÿ ÐèþçÜ$¢Ðèþ#Ë$. 

4)  Discharge by operation of Law. 

 ¯éÅÄæý$Ô>çÜ ̂°º…«§æþ¯èþË AÐèþ$Ë$ §éÓÆ> ÑÐðþ*^èþ¯èþ…. 

5) Conditions and Warranties. 

 çÙÆæÿ™èþ$Ë$ Ðèþ$ÇÄæý$$ ç³N`Ë$. 

6) Revocation of offer. 

 {ç³†´ë§æþ¯èþ¯èþ$ Eç³çÜ…çßýÇ… è̂þ$r. 

7) Agency by precedent authority. 

 Ðèþ$$…§æþ$V> A«̈ M>Ææÿ… ´÷…¨¯èþ Hgñý±Þ. 

8) Compulsory winding up. 

 °ÆæÿÂ…§æþ ç³ÇçÜÐèþ*í³¢. 

 



 

                                      Section - B (2 x 8 = 16) 

Answer any Two of the following 

9) What are the essential elements of a valid contract? 

 çÜ{MæüÐèþ$Ððþ$Ō èþ M>…{sêMæü$t BÐèþÔèýÅM>Ë$ HÑ? 

10) Discuss the remedies for breach of contract. 

 M>…{sêMæü$t ¿æý…V>°Mìü VæüË °ÐéÆæÿ×Z´ëÄæý*Ë¯èþ$ ÑÐèþÇ…ç³#Ðèþ$$. 

11) Explain the powers and duties of directors. 

OyðþÆæÿMæütÆæÿÏ A«̈ M>Æ>Ë$ Ðèþ$ÇÄæý$$ »ê«§æþÅ™èþË¯èþ$ ÑÐèþÇ…ç³#Ðèþ$$. 

12) Discuss about the legal rules relating to minor‟s agreement. 

 Ððþ$Ō èþÆæÿ$ Jç³µ…§éËMæü$ çÜ…º…«̈ …_¯èþ ¯éÅÄæý*™èþÃMæü °º…«§æþ¯èþË¯èþ$ ÑÐèþÇ…ç³#Ðèþ$$.    

                            Section - C (3 x 16 = 48) 

Answer any Three of the following 

13) Explain the classification of contracts. 

 M>…{sêMæü$tË ÐèþÈYMæüÆæÿ×ý¯èþ$ Væü$Ç…_ ÑÐèþÇ…ç³#Ðèþ$$. 

14) Discuss about the various modes of discharge of a contract. 

 M>…{sêMæü$t ÑÐðþ*^èþ¯é°Mìü VæüË ç³§æþ®™èþ$Ë¯èþ$ ÑÐèþÇ…ç³#Ðèþ$$. 

15) Elucidate the Consumer Protection Act. 

Ñ°Äñý*Væü§éÆæÿ$Ë ç³ÇÆæÿ„æü×ý ^èþrtÐèþ$$ Væü$Ç…_ ÑÐèþÇ…ç³#Ðèþ$$. 

16) Discuss about the Doctrine of Indoor Management. 

 A…™èþÆæÿY™èþ °ÆæÿÓçßý×ý íÜ§é®…™é°² ÑÐèþÇ…ç³#Ðèþ$$. 

17) Explain the rights of unpaid vendor. 

^ðþÍÏ…ç³#M>° AÐèþ$ÃMæüÐèþ$$§éÆæÿ$ çßýMæü$PË è̄þ$ Væü$Ç…_ ÑÐèþÇ…ç³#Ðèþ$$. 

18) Define agent, Examine the rights and duties of agent. 

Hgñý…r$¯èþ$ °ÆæÿÓ_…_ A™èþ° çßýMæü$PË$, Ñ«§æþ$Ë è̄þ$ ç³ÇÖÍ… è̂þ$Ðèþ$$. 

 
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B.Com. DEGREE EXAMINATION, MAY - 2015 

(Examination at the end of Final Year) 

Part - II : COMMERCE 

 Paper - III : Income Tax and Practical Auditing 

Time : 03 Hours  Maximum Marks : 80 

     

                                             Section - A (2 x 4 = 8) 

Answer any two of the following 

      

1) Objectives of Audit. 

 Byìþsìý…VŠü Ë„> ÅË$. 

2) Internal check. 
 A…™èþÆæÿY™èþ ™èþ°T. 

3)  Audit Report. 

 ByìþsŒý °Ðóþ¨Mæü. 

4)  Audit planning. 

 ByìþsŒý {ç³×êãMîüMæüÆæÿ×ý. 

           Section - B  (2 x 16 = 32) 

Answer any two of the following 

5) Describe the procedure involved in Auditing. 

 Byìþsìý…VŠüÌZ° M>ÆæÿÅçÜÆæÿã° ÑÐèþÇ…^èþ$Ðèþ$$. 

6) What are the rights and duties of auditor? 

 ByìþrÆŠÿ Äñý$$MæüP çßýMæü$PË$, Ñ«§æþ$Ë$ HÑ$? 

7) Distinguish between verification and valuation. 

 çÜÇ^èþ*^èþ$r, Ðèþ$*ÌêÅ…Mæü¯èþÐèþ$$ Ðèþ$«§æþÅ ™óþyéË è̄þ$ ™ðþË$ç³#Ðèþ$$. 

8) Discuss different kinds of Audit. 

 ÑÑ«§æþ ÆæÿM>Ë ByìþsŒýË¯èþ$ è̂þÇa… è̂þ$Ðèþ$$. 



 

          Section - C  (2 x 4 = 8) 

Answer any two of the following 

 
9) Assessment year. 

 ç³¯èþ$² °Æ>®Ææÿ×ý çÜ…Ðèþ™èþÞÆæÿÐèþ$$. 

10)     Resident. 

°ÐéíÜ. 

11)    Fully Exempted Income. 

 ç³NÇ¢V> ç³¯èþ$² Ñ$¯èþàÆÿ$$… è̂þºyìþ¯èþ B§éÄæý$Ðèþ$$. 

12)    Salary. 

 i™èþÐèþ$$. 

            Section - D (2 x 16 = 32) 

Answer any two of the following 

 

13)   The following is the Profit and Loss Account of a Merchant for the Year Ending 31-3-2013.  

Profit and Loss Account 
  

     E  E 

 To Office salary  6,500 By Gross profit 36,750 

 To Bad debts written off 1,700 By Commission 1,250 

 To Provision for bad debts 3,000 By Discounts 500 

 To Advertisement 3,800 By Sundry Receipts 200 

 To Fire Insurance premium 550 By Rent of Building 3,600 

      (House Property) 

 To General Expenses 2,750 By Profit on Sale  3,000 

 To Depreciation  1,200       of Investments  

 To Interest on Capital 2,000 

 To Interest on Bank Loan (due) 1,300 

 To Net profit  22,500 

     45,300 45,300 

Compute the Taxable Profit from Business. The amount of depreciation is E 1,000. Interest on 

Bank Loan was paid on 1-8-2013. Due date of filing of returns is 31-7-2013. 



 

31 Ðèþ*Ça , 2013 è̄þ A…™èþÐèþ$Äôý$Å çÜ…Ðèþ™èþÞÆ>°Mìü JMæü ÐèþÆæÿ¢Mæü$°Mìü ^ðþ…¨¯èþ Ìê¿æý è̄þÚëtË Rê™é ¨Væü$Ðèþ ±Äæý$ºyìþ¯èþ¨. 

Ìê¿æý è̄þÚëtË Rê™é 
   Ææÿ*.  Ææÿ*. 

To íÜº¾…¨ i™éË$ 6,500 By  çÜ*¦Ë Ìê¿æýÐèþ$$ 36,750 

 To Æ>° »êMîüË$  1,700 By MæüÑ$çÙ¯Œþ 1,250 

 To Æ>° »êMîüË HÆ>µr$ 3,000 By yìþÝûP…sŒý 500 

 To {ç³Mæür¯èþË$ 3,800  By ÑÑ«§æþ ÐèþçÜ*âæý$Ï 200 

 To AW² ÁÐèþ* {ï³Ñ$Äæý$… 550 By ¿æýÐèþ¯èþÐèþ$$òOò³ A§ðþª 3,600 

      (Væü–çàíÜ¢Mìü ^ðþ…¨¯èþÑ) 

 To Ýë«§éÆæÿ×ý QÆæÿ$aË$ 2,750 By ò³r$tºyæþ$Ë AÐèþ$ÃMæüÐèþ$$ 3,000 

 To ™èþÆæÿ$Væü$§æþË  1,200       òOò³ Ìê¿æýÐèþ$$  

 To Ðèþ$*Ë«§æþ¯èþ…òOò³ Ðèþyîþz  2,000 

 To »êÅ…Mæü$ º$$×ý…òòOò³ Ðèþyîþz (ºM>Æÿ$$) 1,300 

 To °MæüÆæÿ Ìê¿æýÐèþ$$  22,500 

     45,300 45,300 

ÐéÅ´ëÆæÿÐèþ$$ ¯èþ$…yìþ ç³¯èþ$²Mæü$ Væü$Ç AÄôý$Å Ìê¿ê°² ÌñýMìüP…ç³#Ðèþ$$. A è̄þ$Ðèþ$†…_ è̄þ ™èþÆæÿ$Væü$§æþË Ææÿ*. 1,000. »êÅ…Mæü$ º$$×ý…òOò³ 

Ðèþyîþz° 1-8-2013 ¯éyæþ$ ð̂þÍÏ…^èþyæþOÐðþ$¯èþ¨. °Ðóþ¨Mæü §éQË$ ó̂þÄæý$ÐèþËíÜ¯èþ BQÆæÿ$™óþ¨ 31-7-2013. 

14)  A House was completed on April 1, 2012 and following Information is available about this house. 

  
     E   

 Municipal value of the house 30,000 p.a.  

 Fair Rental value of the house 32,000 p.a   

 Actual rent                                4,000 P.M.  

 Municipal Taxes   6,000  p.a. 
   

Let out for the period 1-4-2012 to 31-12-2012 and self occupied from 1-1-2013 onwards. 

   E  

 Fire Insurance premium 3,600  

 Land Revenue  6,000   

 Interest on Loan for the period:  

a) 1-4-09 to 31-3-2012  45,000 

b) 1-4-2012 to 31-3-2013 15,000 

Compute Income from House Property for the previous year. 



 

 JMæü Væü–çßýÐèþ$$ H{í³ÌŒý 1, 2012 è̄þ °ÇÃ… è̂þºyìþ¯èþ¨. A…§æþ$Mæü$ çÜ…º…«̈ …_¯èþ ÑÐèþÆæÿÐèþ$$Ë$ ¨Væü$Ðèþ Ñ«§æþ…V> E¯é²Æÿ$$.  

       Ææÿ*.   
 Ðèþ$$°Þç³ÌŒý ÑË$Ðèþ çÜ…Ðèþ™èþÞÆ>°Mìü 30,000  

 Äæý$$Mæü¢OÐðþ$¯èþ A§ðþª ÑË$Ðèþ çÜ…Ðèþ™èþÞÆ>°Mìü 32,000   

 ÐéçÜ¢Ðèþ A§ðþª ¯ðþËMæü$   4,000  

 Ðèþ$$°Þç³ÌŒý ç³¯èþ$²Ë$ çÜ…Ðèþ™èþÞÆ>°Mìü 6,000  

 AW² ÁÐèþ* {ï³Ñ$Äæý$… 3,600  

 ¿æý*Ñ$ ÕçÜ$¢   6,000   

 º$$×ý…òOò³ Ðèþyîþz :    

a) 1-4-09 è̄þ$…yìþ  31-3-2012 ÐèþÆæÿMæü$   45,000 

b) 1-4-2012 è̄þ$…yìþ  31-3-2013 ÐèþÆæÿMæü$  15,000 

D Væü–à°² 1-4-2012 è̄þ$…yìþ 31-12-2012 ÐèþÆæÿMæü$ A§ðþªMìü_a 1-1-2013 è̄þ$…yìþ Ý÷…™èþ °ÐéçÜÐèþ$$ è̄þMæü$ Ðéyæþ$Mæü$¯é²yæþ$. Væü™èþ 

çÜ…Ðèþ™èþÞÆ>°Mìü Væü–çàíÜ¢ ¯èþ$…yìþ B§éÄæý$Ðèþ$$ ÌñýMìüP…ç³#Ðèþ$$. 

15)    State the provisions of Law relating to set off and carry forward of Losses. 

 ¯èþÚëtË Ðèþ$$§æþÆ>, Ðèþ$$…§æþ$Mæü$ ¡íÜMö° ´ùÐèþ#rMæü$ çÜ…º…«̈ …_¯èþ ^èþrt °º…«§æþ¯èþË$ ™ðþË$ç³#Ðèþ$$. 

16)    Explain the Residential status of Individual. 

 ÐèþÅMìü¢ Äñý$$MæüP °ÐéçÜ {ç³†ç³†¢° HÑ«§æþ…V> °Ææÿ~Æÿ$$Ýë¢Ææÿ$. 


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B.Com. DEGREE EXAMINATION, MAY - 2015 

(Examination at the end of Final Year) 

Part – II : COMMERCE 

 Paper - III : Cost and Management Accounting 

Time : 3 Hours  Maximum Marks : 80 

SECTION - A 

                               Answer any Four of the following (4 × 4 = 16) 

1) What are the advantages of cost accounting? 

M>‹Üt AMú…sìý…VŠü ÐèþË¯èþ MæüÍVóü {ç³Äñý*f¯éË$ HÑ$sìý? 

2) Bin card – stores ledger. 

 ¼¯Œþ M>ÆŠÿz & ÝùtÆŠÿÞ BÐèþÆ>j. 

3)  Difference between time – keeping and time booking.  

 OsñýÐŒþ$  Mîüí³…VŠü Ðèþ$ÇÄæý$$ OsñýÐŒþ$ º$Mìü…VŠüË Ðèþ$«§æþÅ ÐèþÅ™éÅçÜÐèþ$$.   

4)  What is work certified and work uncertified?  

 «§æþ–ÒMæüÇ…_¯èþç³° Ðèþ$ÇÄæý$$ «§æþ–ÒMæüÇ…^èþ° ç³° A¯èþV>¯óþÑ$? 

5)  Operating ratio. 

°ÆæÿÓçßý×ý °çÙµ†¢. 

6)  What is financial statement? How many financial statements are there?  

 BÇ¦Mæü °Ðóþ¨Mæü A…sôý HÑ$sìý? D BÇ¦Mæü °Ðóþ¨MæüË$ G°²ÆæÿM>Ë$? 

7)  Discuss the advantages of ratio analysis. 

 °çÙµ™èþ$¢Ë ÑÔóýÏçÙ×ý Äñý$$MæüP {ç³Äñý*f¯éË¯èþ$ è̂þÇa… è̂þ…yìþ. 

8)  Elements of costs. 

 ÐèþÅÄæý$M>ÆæÿM>Ë$. 
SECTION – B 

                          Answer any Two of the following  (2 × 8 = 16) 

9)  The following cost details are extracted from the records of Mohini Co. Ltd., for the month of March 

2014. You are required to prepare cost sheet and ascertain cost per unit.  



 

 Factory rent and rates Rs. 4,500, other rent Rs. 750, general expenses Rs. 600, administrative 

expenses Rs. 900, income tax paid Rs. 3,000, depreciation on plant Rs. 2,250, loss on sale of plant 

Rs. 450, manufacturing expenses Rs. 10,500, raw materials purchased Rs. 42,000, stock of raw 

materials (1 – 3 – 2014) Rs.4,500. stock of raw materials (31 – 3 – 2014) Rs. 6,750. No. of units 

produced during the month 3,000. The stock of finished goods was 200 and 400 units on 1 – 3 – 2014 

and 31 – 3 – 2014 respectively. The total cost of units on hand on 1-3-2014 was Rs. 4,200. All these 

units have been sold. 

 Ððþ*íßý± Mæü…ò³± ÍÑ$sñýyŠþ ÐéÇ ç³#çÜ¢M>Ë ¯èþ$…yìþ õÜMæüÇ…^èþºyìþ¯èþ ÐèþÅÄæý$ ÑÐèþÆ>Ë$ Ðèþ*Ça 2014 ¯ðþËMæü$ çÜ…º…¨…_ {Mìü…¨ Ñ«§æþ…V> 

E¯é²Æÿ$$. ÐèþÅÄæý$°Ðóþ¨Mæü¯èþ$ ™èþÄæý*Ææÿ$^óþíÜ, Äæý$*°sŒý E™èþµ†¢ ÐèþÅÄæý*°² ÌñýMìüP…^èþ…yìþ. 

¸ëÅMæütÈ A§ðþª, Æóÿr$Ï Ææÿ*. 4, 500; C™èþÆæÿ A§ðþª Ææÿ*. 750; Ýë«§éÆæÿ×ý QÆæÿ$aË$ Ææÿ* 600; ç³Ç´ëË¯éQÆæÿ$aË$      Ææÿ*. 900; 

B§éÄæý$ç³# ç³¯èþ$² ^ðþÍÏ…ç³# Ææÿ*. 3,000; ´ëÏ…sŒý Oò³ ™èþÆæÿ$Væü$§æþË Ææÿ* 2,250; ´ëÏ…sŒý AÐèþ$ÃMæü… òOò³ ¯èþçÙtÐèþ$$ Ææÿ*. 450; E™èþµ†¢ 

QÆæÿ$aË$ Ææÿ*. 10,500; ¯ðþËÌZ Ðèþ$$yìþ çÜÆæÿ$Mæü$Ë Mö¯èþ$VøË$ Ææÿ*. 42,000. 

Ðèþ$$yìþ çÜÆæÿ$Mæü$ °ËÓ (1 & 3 & 2014) Ææÿ*. 4,500 

Ðèþ$$yìþ çÜÆæÿ$Mæü$ °ËÓ (31 & 3 & 2014) Ææÿ*. 6,750 

ð̄þËM>Ë…ÌZ E™èþµ†¢ ^óþíÜ¯èþ Äæý$*°r$Ï  3,000. 

™èþÄæý*OÆðÿ¯èþ çÜÆæÿ$Mæü$ °ËÓË$ Ðèþ*Ça 1 Ðèþ$ÇÄæý$$ Ðèþ*Ça 31 ¯èþ ÐèþÆæÿ$çÜV> 200 Äæý$*°r$Ï Ðèþ$ÇÄæý$$ 400 Äæý$*°r$ÏV> E¯é²Æÿ$$. 

2014 Ðèþ*Ça 1 ¯èþ ™èþÄæý*OÆðÿ¯èþ çÜÆæÿ$Mæü$ Äñý$$MæüP ÑË$Ðèþ Ææÿ*. 4,200. D °ËÓË$ ç³NÇ¢V> AÐèþ$$Ãyæþ$ ´ùÆÿ$$ è̄þÑ. 

10)   What are the essential characteristics of a good costing system? 

 Ðèþ$…_ M>íÜt…VŠü ÐèþÅÐèþçÜ¦Mæü$ E…yæþÐèþËíÜ¯èþ Ðèþ$$QÅ Ë„æü×êË$ HÑ$sìý? 

11)  The following details are extracted from the records of two companies carrying on similar business 

for the year ending 31 – 3 – 2014. 

     Moon Co. Ltd. Sun Co. Ltd.  

     in Rs in Rs 

 Gross sales 1,22,400 1,47,000 

 Cost of goods sold 72,800 81,000 

 Sales returns 2,400 3,000 

 Office expenses  15,000 13,600 

 Selling expenses 24,000 25,000 

 Interest on investments 2,000 3,600 

 Depreciation  3,000 5,000 

 Loss on sale of machinery 2,000 1,300 

 Tax liability 50% 40% 

 You are required to prepare common size income statement of the above two companies.  



 

 31 Ðèþ*Ça, 2014 ¯ésìýMìü JMóü ÆæÿMæüOÐðþ$¯èþ ÐéÅ´ëÆæÿÐèþ$$ ó̂þçÜ$¢̄ èþ² Æðÿ…yæþ$ Mæü…ò³±Ë ç³#çÜ¢M>Ë ¯èþ$…yìþ õÜMæüÇ… è̂þºyìþ¯èþ ÑÐèþÆ>Ë$ {Mìü…¨ 

Ñ«§æþ…V> E¯é²Æÿ$$. 

     Ðèþ$*¯Œþ Mæü…ò³± Í. çÜ¯Œþ Mæü…ò³± Í.  
     Ææÿ*|| ËÌZ  Ææÿ*||ËÌZ 

 çÜ*¦Ë AÐèþ$ÃM>Ë$ 1,22,400 1,47,000 

 AÐèþ$ÃMæüç³# ÐèþÅÄæý$Ðèþ$$ 72,800 81,000 

 AÐèþ$ÃMæüç³# Ðéç³çÜ$Ë$ 2,400 3,000 

 BïœçÜ$ QÆæÿ$aË$ 15,000 13,600 

 AÐèþ$ÃMæüç³# QÆæÿ$aË$ 24,000 25,000 

 ò³r$tºyæþ$Ë òOò³ Ðèþyîþz 2,000 3,600 

 ™èþÆæÿ$Væü$§æþË  3,000 5,000 

 Äæý$…{™èþÐèþ$$ AÐèþ$ÃMæüÐèþ$$òOò³ ¯èþçÙtÐèþ$$ 2,000 1,300 

 ç³¯èþ$² »ê§æþÅ™èþ 50% 40% 

 òOò³ A…Ô>Ë è̄þ$ B«§éÆæÿ…V> ^óþçÜ$Mö° Æðÿ…yæþ$ Mæü…ò³±Ë HMîüMæü–™èþ B§éÄæý$ °Ðóþ¨Mæü ™èþÄæý*Ææÿ$ ^óþÄæý$…yìþ. 
 

12)  From the following cost details, Calculate the total earnings of each worker per hour under Halsey 

plan and Rowan plan of incentive schemes. 

 Worker‟s Name  Kamala Vimala Jalaja 

 Time allowed (in Hours) 3 6 8 

 Actual time taken (Hours) 5 5 3 

 Basic wage per hour (in Rs.) 2 2 2 

 {Mìü…¨ ÐèþÅÄæý$ ÑÐèþÆ>Ë è̄þ$…yìþ {ç³† M>ÇÃMæü$° Äñý$$MæüP Ððþ$$™èþ¢Ðèþ$$ B§éÄæý*°² Væü…rMæü$ Æóÿr$¯èþ$ çßZÌôýÞ ç³£æþMæüÐèþ$$ Ðèþ$ÇÄæý$$ ÆöÐé Œ̄þ 

{´ù™éÞçßýMæü ç³«§æþM>Ë ¯èþ¯èþ$çÜÇ…_ ÌñýMìüP… è̂þ…yìþ. 

 M>ÇÃMæü$Ë õ³Ææÿ$Ï    MæüÐèþ$Ë ÑÐèþ$Ë fËf  

 MóüsêÆÿ$$…_¯èþ M>ËÐèþ$$ (Væü…rËÌZ) 3 6 8 

 ÐéçÜ¢Ðèþ ç³° M>ËÐèþ$$ (Væü…rËÌZ) 5 5 3 

 Væü…rMæü$ Ðèþ$*ËÐóþ™èþ¯èþÐèþ$$ (Ææÿ*||ËÌZ) 2 2 2 

 



 

SECTION – C 

                             Answer any Three of the following (3 × 16 = 48) 

13)    Kundan Construction Co. Ltd., Commenced a contract of Rs. 12 lakhs on 1
st
 January 2013. 

 The cost details as on 31
st
 December 2013 was given below : 

 Plant purchased Rs. 60,000; General charges Rs. 32,000;  Wages paid Rs. 3,40,000; Direct expenses 

Rs. 8,000; Materials sent to site Rs. 3,36,000; Outstanding wages Rs. 2,800; Materials at site (31 – 12 

– 2013) Rs. 4,000; Outstanding direct expenses Rs. 1,200; Work uncertified Rs. 14,000; 

 Cash received Rs. 6,00,000 being 80% of work certified. The life of plant being 5 years and Scrap 

value is nil. Prepare contract account and show the balance sheet.  
  

 f¯èþÐèþÇ 1, 2013 ¯éyæþ$ Mæü$…§æþ¯Œþ ¿æýÐèþ¯èþ °Æ>Ã×ý Mæü…ò³± ÍÑ$sñýyŠþ Ææÿ*. 12 Ë„æüË ÑË$ÐèþVæüË JMæü M>…{sêMæü$t̄ èþ$ {´ëÆæÿ…À…_…¨. 
31 yìþòÜ…ºÆæÿ$ 2013 ¯ésìýMìü ÐèþÅÄæý$ÑÐèþÆ>Ë$ {Mìü…¨ Ñ«§æþ…V> E¯é²Æÿ$$. 

 ́ ëÏ…r$ Mö¯èþ$VøË$ Ææÿ*. 60,000; Ýë«§éÆæÿ×ý QÆæÿ$aË$ Ææÿ*. 32,000; Ðóþ™èþ¯éË ^ðþÍÏ…ç³# Ææÿ*. 3,40,000; {ç³™èþÅ„æüQÆæÿ$aË$ 

Ææÿ* 8,000; çÜ¦ËÐèþ$$¯èþMæü$ ç³…í³¯èþ Ððþ$sîýÇÄæý$ÌŒýÞ Ææÿ*. 3,36,000; ^ðþÍÏ…^èþÐèþËíÜ¯èþ Ðóþ™èþ¯éË$ Ææÿ*. 2,800; 31&12&2013 

¯ésìýMìü Ððþ$sîýÇÄæý$ÌŒýÞ °ËÓ Ææÿ* 4,000; ^ðþÍÏ…^èþÐèþËíÜ¯èþ {ç³™èþÅ„æü QÆæÿ$aË$ Ææÿ*. 1,200; BÐðþ*¨…_¯èþ ç³° Ææÿ*. 14,000. 

 ¯èþVæü§æþ$ ÐèþçÜ*âæý$å Ææÿ* 6,00,000 (C¨ BÐðþ*¨…_¯èþ ç³°ÌZ 80%) 

 ´ëÏ…r$ iÑ™èþM>ËÐèþ$$ 5 çÜ…Ðèþ™èþÞÆæÿÐèþ$$Ë$. ©° ™èþ$Mæü$P ÑË$Ðèþ HÑ$ Ìôý§æþ$. 

 {M>…{sêMæü$t Rê™é è̄þ$ ™èþÄæý*Ææÿ$ ^óþíÜ, BíÜ¢ Aç³šË ç³sîýt ^èþ*ç³…yìþ. 

14)     In Karunya Electronics Co. Ltd., there are 3 production departments and 2 service departments. The 

total expenses as per the records reveals that -  Rent. Rs. 10,000; Lighting Rs. 600; Indirect wages Rs. 

3,000; Power Rs. 3,000; Machine depreciation Rs. 10,000; Other expenses Rs 10,000.  

 Additional Information : 

  Details   P1 P2 P3 S1 S2 

 Floor area (sq. mts) 1,000 1,250 1,500 1,000 250 

 Light points (No.) 10 15 20 10 5 

 Direct Wages (Rs.) 3,000 2,000 3,000 1,500 500 

 HP of machines  60 30 50 10 - 

 Cost of machines (Rs.) 24,000 32,000 40,000 2,000 2,000 

 Working Hours  2,335 1,510 1,525 - - 

 The expenses of service departments are to be allocated as follows : 

     P1 P2 P3 S1 S2 

  S1  20% 30% 40% - 10% 

  S2  40% 20% 30% 10% - 

 Calculate the over head recovery rate per hour in respect of production departments. 



 

 M>Ææÿ$×ýÅ GË[M>t°MŠüÞ Mæü…ò³±ÌZ 3 E™èþµ†¢ Ñ¿êV>Ë$ Ðèþ$ÇÄæý$$ 2 õÜÐé Ñ¿êV>Ë$ E¯é²Æÿ$$. õÜMæüÇ…_¯èþ ÇM>Ææÿ$zË {ç³M>ÆæÿÐèþ$$ 

QÆæÿ$aË Ððþ$$™é¢Ë$ {Mìü…¨ Ñ«§æþ…V> E¯é²Æÿ$$. A§ðþª Ææÿ*. 10,000; ÐðþË$™èþ$Ææÿ$ Ææÿ*. 600; ç³Æø„æü Ðóþ™èþ¯éË$ Ææÿ*. 3,000; 

C…«§æþ¯èþÐèþ$$ Ææÿ*. 3,000; Äæý$…{™èþÐèþ$$ òOò³ ™èþÆæÿ$Væü$§æþË Ææÿ*. 10,000; C™èþÆæÿQÆæÿ$aË$    Ææÿ*. 10,000. 

 A§æþ¯èþç³# çÜÐèþ*^éÆæÿÐèþ$$ : 

  ÑÐèþÆæÿÐèþ$$Ë$   P1 P2 P3 S1 S2 

 B{MæüÑ$…_ è̄þ çÜ¦ËÐèþ$$ ( è̂þ. Ò$rÆæÿ$Ï) 1,000 1,250 1,500 1,000 250 

 OÌñýsŒý ´ëÆÿ$$…r$Ï  ( çÜ…QÅ) 10 15 20 10 5 

 {ç³™èþÅ„æü Ðóþ™èþ¯éË$ (Ææÿ*.ËÌZ) 3,000 2,000 3,000 1,500 500 

 HP Äæý$…{™éË$  60 30 50 10 - 

 Äæý$…{™éË Mö è̄þ²«§æþÆæÿ (Ææÿ*.ËÌZ) 24,000 32,000 40,000 2,000 2,000 

 ç³° Væü…rË$   2,335 1,510 1,525 - - 

 õÜÐé Ñ¿êVæüç³# QÆæÿ$aË$ {Mìü…¨ Ô>™èþÐèþ$$Ë B«§éÆæÿ…V> Ñ¿æýf è̄þ ^óþÄæý*Í : 

     P1 P2 P3 S1 S2 

   S1  20% 30% 40% - 10% 

   S2  40% 20% 30% 10% - 

 Oò³ A…Ô>Ë è̄þ$ B«§éÆæÿ…V> ó̂þçÜ$Mö° Væü…rMæü$ ç³Æø„æü QÆæÿ$aË ÇMæüÐèþÈ Æóÿr$ è̄þ$ E™èþµ†¢ Ñ¿êV>ËMæü$ ÌñýMìüP…^èþ…yìþ. 

15)  The particulars in profit and loss account of Abhi Co. Ltd, for the year 31
st
 March 2014 was as follows 

: 

 Sales  Rs. 6,50,000 

 Closing stock Rs. 1,00,000 

 Opening stock Rs. 75,000 

 Purchases Rs. 4,25,000 

 Wages Rs. 25,000 

 Carriage Rs. 10,000 

 Interest on government securities  Rs. 6,000 

 Profit on sale of Plant Rs. 4,000 

 Office expenses Rs. 1,00,000 

 Selling expenses Rs. 10,000 

 Interest on debentures  Rs. 5,000 

 Interest on bank overdraft Rs. 2, 500 

 Depreciation  Rs. 7,500 

 Provision for taxation Rs. 50,000 



 

 You are required to calculate : 

a) Gross profit ratio 

b) Net profit ratio 

c) Operating profit ratio 

d) Operating ratio 

e) Stock turnover ratio 

Ðèþ*Ça 31, 2013 ™ø A…™èþÐèþ$Äôý$Å çÜ…Ðèþ™èþÞÆ>°Mìü AÀ Mæü…ò³± ÍÑ$sñýyŠþ ÐéÇ ç³#çÜ¢M>Ë ¯èþ$…yìþ õÜMæüÇ…_¯èþ ÑÐèþÆ>Ë$ {Mìü…¨ 

Ñ«§æþ…V> E¯é²Æÿ$$. 

AÐèþ$ÃM>Ë$ Ææÿ*. 6,50,000 

´ëÆæÿ…¿æýç³# çÜÆæÿ$Mæü$ Ææÿ*. 75,000 

Mö¯èþ$Vøâæý$å Ææÿ*. 4,25,000 

Ðèþ$$W…ç³# çÜÆæÿ$Mæü$ Ææÿ*. 1,00,000 

Ðóþ™èþ¯éË$ Ææÿ*. 25,000 

ÆæÿÐé×ê Ææÿ*. 10,000 

{ç³¿æý$™èþÓ òÜMæü*ÅÇsîýË è̄þ$…yìþ Ðèþyîþz Ææÿ*. 6,000 

´ëÏ…r$ AÐèþ$ÃMæüÐèþ$$ Oò³ Ìê¿æýÐèþ$$ Ææÿ*.  4,000 

BïœçÜ$ QÆæÿ$aË$ Ææÿ*. 1,00,000 

AÐèþ$ÃMæüç³# QÆæÿ$aË$ Ææÿ*. 10,000 

yìþ»ñý…^èþÆæÿÏòOò³ Ðèþyîþz Ææÿ* 5,000 

»êÅ…Mæü$ KÐèþÆŠÿ {yé‹œtòOò³ Ðèþyîþz Ææÿ*. 2,500 

™èþÆæÿ$Væü$§æþË Ææÿ*. 7,500 

 ç³¯èþ$²MøçÜ… HÆ>µr$ Ææÿ*. 50,000 

 òOò³ A…Ô>Ë è̄þ$ B«§éÆæÿ…V> ^óþçÜ$Mö° : 

a) çÜ*¦Ë Ìê¿æý °çÙµ†¢ 

b) °MæüÆæÿ Ìê¿æý °çÙµ†¢ 

c) °ÆæÿÓçßý×  Ìê¿æý ý°çÙµ†¢ 

d) °ÆæÿÓçßý×  °çÙµ†¢ 

e) çÜÆæÿ$Mæü$ rÆø²ÐèþÆŠÿ °çÙµ†¢ Mæü¯èþ$MøP…yìþ. 

 

 



 

16) Prepare a comparative Balance sheet and Comment. 

 Liabilities 2012 2013 Assets 2012 2013 

  Rs. Rs.  Rs. Rs. 

 Equity share capital 1,00,000 1,00,000 Buildings  1,00,000 98,000 

 Reserve 24,000 22,000 Land 1,08,000 1,00,000 

 Mortgage loan  1,10,000 1,00,000 Stock 30,000 60,000 

 Creditors 30,000 90,000 Debtors 40,000 80,000 

 Bills payable 50,000 40,000 Bank 30,000 2,000 

 Provision for taxation 44,000 28,000 Bills receivable 50,000 40,000 

 Profit & Loss A/c 10,000 10,000 Good will 10,000 10,000 

  3,68,000 3,90,000  3,68,000 3,90,000 

 ™èþ$Ë¯é™èþÃMæü BíÜ¢ Aç³šË ç³sîýt ™èþÄæý*Ææÿ$^óþíÜ, ÑÐèþÆæÿ×ý CÐèþÓ…yìþ. 

 Aç³šË$ 2012 2013 BçÜ$¢Ë$ 2012 2013 

  Ææÿ*|| Ë$ Ææÿ*|| Ë$  Ææÿ*|| Ë$ Ææÿ*|| Ë$ 
 DMîüÓsîý Ðésê Ðèþ$*Ë«§æþ¯èþÐèþ$$ 1,00,000 1,00,000 ¿æýÐèþ¯éË$  1,00,000 98,000 

 ÇfÆæÿ$Ó 24,000 22,000 ¿æý*Ñ$ 1,08,000 1,00,000 

 ™èþ¯èþRê Aç³š  1,10,000 1,00,000 çÜÆæÿ$Mæü$ 30,000 60,000 

 º$$×ý§é™èþË$ 30,000 90,000 º$$×ý{VæüçÜ$¢Ë$ 40,000 80,000 

 ^ðþÍÏ…ç³# ¼Ë$ÏË$ 50,000 40,000 »êÅ…Mæü$ 30,000 2,000 

 ç³¯èþ$² MøçÜ… HÆ>µr$ 44,000 28,000 ÐèþçÜ*Ë$ ¼Ë$ÏË$ 50,000 40,000 

 Ìê¿æý è̄þÚëtË Rê™é 10,000 10,000 Væü$yŠþ ÑÌŒý 10,000 10,000 

  3,68,000 3,90,000  3,68,000 3,90,000 

 
 

17) The following figures have been taken from the books of a firm.  

 Raw materials – Opening stock Rs. 40,000 

 Raw materials – Closing stock Rs. 30,000 

 Finished goods – Opening stock Rs. 10,000 

 Finished goods – Closing stock Rs. 15,000 

 Purchase of Raw materials  Rs. 1,50,000  

 Direct wages  Rs. 1,20,000 

 Factory expenses  Rs. 1,20,000 

 Office expenses  Rs. 50,000 

 Sales    Rs. 4,89,500 

 What should be the quotation of a job requiring Rs. 2,000 for material and Rs. 3,000 for direct wages. 



 

 ¨Væü$Ðèþ A…MðüË$, JMæü çÜ…çÜ¦ ç³#çÜ¢M>Ë ¯èþ$…yìþ ¡çÜ$Mö¯èþºyìþ¯èþÑ. 

         Ææÿ*|| Ë$ 

 Ðèþ$$yìþçÜÆæÿ$Mæü$ & {´ëÆæÿ…¿æýç³# °ËÓ 40,000 

 Ðèþ$$yìþçÜÆæÿ$Mæü$ & Ðèþ$$W…ç³# °ËÓ 30,000 

 ™èþÄæý*OÆðÿ¯èþ çÜÆæÿ$Mæü$ & {´ëÆæÿ…¿æýç³# °ËÓ 10,000 

 ™èþÄæý*OÆðÿ¯èþ çÜÆæÿ$Mæü$ & Ðèþ$$W…ç³# °ËÓ 15,000 

 Ðèþ$$yìþ çÜÆæÿ$Mæü$ Mö è̄þ$VøË$  1,50,000 

 {ç³™èþÅ„æü Ðóþ™èþ¯éË$  1,20,000 

 ¸ëÅMæütÈ QÆæÿ$aË$  1,20,000 

 BïœçÜ$ QÆæÿ$aË$  50,000 

 AÐèþ$ÃM>Ë$   4,89,500 

 Ææÿ* 2,000 Ððþ$sîýÇÄæý$ÌŒý Ðèþ$ÇÄæý$$ Ææÿ*. 3,000 {ç³™èþÅ„æüÐóþ™èþ¯éË$ AÐèþçÜÆæÿÐèþ$Äôý$Å JMæü gê»ŒýMæü$ MösôýçÙ¯Œþ «§æþÆæÿ¯èþ$ °Ææÿ~Æÿ$$… è̂þ…yìþ. 

18) The following direct costs were incurred on job No. 415 of T.V. company. 

Materials  Rs. 4,020 

Wages : 

Department A 60 hours @ Rs. 3 per hour 

Department B 40 hours @ Rs. 2 Per hour 

Department C 20 hours @ Rs. 5 Per hour 

Variable overheads : 

Department A Rs. 5,000 for 5,000 direct labour hours. 

Department B Rs. 3,000 for 1,500 direct labour hours. 

Department C Rs. 2,000 for 500 direct labour hours 

Fixed over heads : Estimated at Rs. 20,000 for 10,000 normal working hours. 

Calculate the cost of the job and calculate price to give a profit of 25% on selling price.  

 gê»Œý ¯ðþ…ºÆæÿ$ 415 Mìü çÜ…º…«̈ …_ sîý.Ñ.Mæü…ò³± ÐéÆæÿ$ ¨Væü$Ðèþ {ç³™èþÅ„æü QÆæÿ$aË è̄þ$ ^ðþÍÏ…^éÆæÿ$. 

 Ððþ$sîýÇÄæý$ÌŒýÞ     Ææÿ*. 4,020 

 Ðóþ™èþ¯éË$ :   

 A Ñ¿êVæüÐèþ$$ 60 Væü…rË$ Væü…rMæü$ Ææÿ*. 3 ^öç³š¯èþ 

 B Ñ¿êVæüÐèþ$$ 40 Væü…rË$ Væü…rMæü$ Ææÿ*. 2 ^öç³š¯èþ 

 C Ñ¿êVæüÐèþ$$ 20 Væü…rË$ Væü…rMæü$  Ææÿ*. 5 ^öç³š¯èþ 



 

 ^èþÆæÿKÐèþÆŠÿ òßýyŠþÞ : 

 A Ñ¿êVæüÐèþ$$ Ææÿ*. 5,000 & 5,000 ç³° Væü…rËMæü$ 

 B Ñ¿êVæüÐèþ$$ Ææÿ*. 3,000 & 1,500 ç³° Væü…rËMæü$ 

 C Ñ¿êVæüÐèþ$$ Ææÿ*. 2,000 & 500 ç³° Væü…rËMæü$ 

 íÜ¦Ææÿ KÐèþÆŠÿ òßýyŠþ : 10,000 ç³° Væü…rËMæü$ Ææÿ*. 20,000 Ë$V> A… è̂þ¯é ÐóþÄæý$ºyézÆÿ$$. gê»Œý M>‹Üt̄ èþ$ Mæü¯èþ$Vö°, AÐèþ$ÃMæü… «§æþÆæÿòOò³ 

25% Ìê¿æýÐèþ$$ Ðèþ^óþa Ñ«§æþ…V> gê»Œý «§æþÆæÿ¯èþ$ °Ææÿ~Æÿ$$…^èþ…yìþ. 

 

 

 

 



 

(DBC 34) 

B.Com. DEGREE EXAMINATION, MAY - 2015 

(Examination at the end of Final Year) 

Part - II : COMMERCE 

 Paper – III : Business Correspondence and Report Writing 

Time : 03 Hours  Maximum Marks : 80 

                                       Section - A (4 x 4 = 16) 

Answer any Four of the following 

      

1) Intra Personal Communication. 

 Ð@þÅMæü$¢Ë A…™èþÆæÿY™èþ çÜ…§óþÔ¶ý…. 

2) Source of Communication. 

 ¿êÐ@þ{ç³ÝëÆæÿ Ð@þ*ËÐ@þ¬. 

3)  Electronic Media Communication. 

 GË[M>t°MŠü Ð@þ$«§æþÅÐ@þ$ ¿êÐ@þ {ç³ÝëÆæÿ…. 

4)  Formal Communication. 

  Ìê…bèþ¯@þ ÝëÄ¶ý$OÐðþ$¯@þ ¿êÐ@þ{ç³ÝëÆæÿ…. 

5) Vertical Communication. 

 FÆæÿ®ÓÐ@þ¬Q ¿êÐ@þ{ç³ÝëÆæÿ…. 

6) Visual Communication. 

 §æþ–Ô¶ýÅ çÜ…§óþÔ¶ýÐ@þ¬. 

7) Essential of Good Report. 

 Ð@þ$…_ Ç´ùÆŠÿt Äñý¬MæüP BÐ@þÔ¶ýÅM>Ë$. 

8) Confidential Reports. 

 ÆæÿçßýçÜÅç³# Ç´ùÆæÿ$tË$. 

 



 

                                      Section - B (2 x 8 = 16) 

Answer any Two of the following 

9) Explain about the levels of communication. 

 ÑÑ«§æþ MæüÐ@þÊÅ°MóüçÙ¯Œþ Ýë¦Æÿ¬Ë¯@þ$ ÑÐ@þÇ…^èþ…yìþ. 

10) What are the Communication Networks? 

 ¿êÐ@þ{ç³ÝëÆæÿ ¯ðþsŒýÐ@þÆŠÿPË$ HÑ? 

11) Elucidate the process of Intra Personal Communication. 

Ð@þÅMìü¢Væü™èþ A…™èþÆæÿY™èþ çÜ…§óþÔ¶ýÐ@þ¬ÌZ° {ç³¶MìüÄ¶ý$¯@þ$ ÑÔ¶ý©MæüÇ…^èþ$Ð@þ¬? 

12) Explain the types of Business Letters. 

 ÑÑ«§æþ ÆæÿM>Ë ÐéÅ´ëÆæÿ ÌôýQË¯@þ$ ÑÐ@þÇ…^èþ…yìþ. 

                                               Section - C (3 x 16 = 48) 

Answer any Three of the following 

13) Define Communication and explain the process of Communication. 

 ¿êÐ@þ{ç³ÝëÆæÿ…¯@þ$ °ÆæÿÓ_…_, ¿êÐ@þ{ç³ÝëÆæÿ {ç³¶MìüÄ¶ý$¯@þ$ ÑÐ@þÇ…ç³#Ð@þ¬. 

14) Do you think Inter and Intra Personal Communications are same? Why do you think so? Explain. 

 C…{rç³ÆæÿÞ¯@þÌŒý Ð@þ$ÇÄ¶ý¬ A…™èþÆæÿY™èþ Ð@þÅMìü¢Væü™èþ ¿êÐ@þ{ç³ÝëÆ>Ë$ JMæüsôý¯é? ÑÐ@þÇ…ç³#Ð@þ¬. 

15) What are the types of Media used at different communication levels? 

ÑÑ«§æþ MæüÐ@þÊÅ°MóüçÙ¯Œþ Ýë¦Æÿ¬ËÌZ Eç³Äñý*Væüç³yóþ ÑÑ«§æþ ÆæÿM>Ë Ò$yìþÄ¶ý* Væü$Ç…_ ™ðþËµ…yìþ. 

16) Write an essay on different types of Organisation Communications. 

 Ð@þÅÐ@þÝë¦ç³Ææÿ ÑÑ«§æþ ÆæÿM>Ë ¿êÐ@þ{ç³ÝëÆ>ËOò³ JMæü ÐéÅÝë°² {ÐéÄ¶ý$…yìþ. 

17) How do you draft a perfect business letter? 

Mæü_a™èþOÐðþ$¯@þ ÐéÅ´ëÆæÿÌôýQ¯@þ$ HÑ«§æþ…V> ™èþÄ¶ý*Ææÿ$^óþÝë¢Ææÿ$? 

18) Define the term Report. Explain different types of Reports. 

Ç´ùÆŠÿt A¯@þV>¯óþÑ$? ÑÑ«§æþ ÆæÿM>Ë Ç´ùÆæÿ$tË @̄þ$ Væü$Ç…_ ÑÐ@þÇ… è̂þ…yìþ. 

 
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Part - II : COMMERCE 

 Paper - III : Business Data Processing Systems 

Time : 3 Hours  Maximum Marks : 80 
      

                                            Section - A (4 x 4 = 16) 

Answer any FOUR of the following 

D {Mìü…¨ ÐésìýÌZ HÐóþ° ¯éË$-Væü$ {ç³Ôèý²-ËMæü$ çÜÐèþ*-«§é-̄ èþ-Ðèþ$$Ë$ {ÐéÄæý$$-Ðèþ$$. 

1) Data Processing. 

 yésê {´ëòÜíÜ…VŠü.    

2) File manipulations. 

 òœO-ÌŒý Ðèþ*Å°-ç³#Å-Ìôý-çÙ-̄ ŒþÞ 

3)  Data base sorting. 

 yésê »ôý‹Ü  ÝëÇt…VŠü 

4)  Mailing Labels. 

 Ððþ$Æÿ$$-Í…VŠü Ìôýº$-ÌŒýÞ 

5) Graphs Creation in Spread sheets.    

 [òÜµyŠþ ïÙsŒýÞÌZ ÌZ V>‹œÞ çÜ–íÙt…^èþ$-r 

6) Word processing. 

 ÐèþÆŠÿz {´ëòÜ-íÜ…VŠü  

7) Print view. 

 {í³…sŒý ÐèþNÅ 

8) Formatting. 

 ¸ëÆ>Ã-sìý…VŠü 



 

           Section - B (2 x 8 = 16) 

Answer any TWO questions 

D {Mìü…¨ ÐésìýÌZ HÐóþ° Æðÿ…yæþ$ {ç³Ôèý²-ËMæü$ çÜÐèþ*-«§é-̄ èþ-Ðèþ$$Ë$ {ÐéÄæý$$-Ðèþ$$. 

9) Discuss about file access methods. 

 Äæý*MðüÞ‹Ü ç³§æþ®-™èþ$-Ë¯èþ$ Væü$Ç…_ ^èþÇa…ç³#-Ðèþ$$.  

10) Write about the process of searching for record in database. 

 yésê»ôý‹Ü-ÌZ ÇM>Ææÿ$z MöÆæÿMæü$ A ó̄þÓ-íÙ…^èþ$ (ÔðýÆŠÿa ^óþÄæý$$) ç³§æþ®† Væü$Ç…_ {ÐéÄæý$$-Ðèþ$$. 

11) What are the advantages of spreadsheet. 

 [òÜµyŠþ ïÙsŒý Äñý$$MæüP {ç³Äñý*-f-̄ éË$ HÑ$-sìý? 

12) Explain the procedure for creating mail merge. 

 Ððþ$Æÿ$$ÌŒý Ððþ$ÆŠÿj è̄þ$ çÜ–íÙt…^èþ$ ç³§æþ®† Væü$Ç…_ ÑÐèþ-Ç…ç³#-Ðèþ$$. 

           Section - C (3 x 16 = 48) 

Answer any THREE questions 

D {Mìü…¨ ÐésìýÌZ HÐóþ° Ðèþ$*yæþ$ {ç³Ôèý²-ËMæü$ çÜÐèþ*-«§é-̄ èþ-Ðèþ$$Ë$ {ÐéÄæý$$-Ðèþ$$. 
 

13) What are the file handling features of window. 

 Ñ…yø Äñý$$MæüP òœOÌŒý àÅ…yìþÏ…VŠü A…ÔéË$ HÑ$-sìý? 

14) Write about the procedure for formatting. 

 ¸ëÆ>Ã-sìý…VŠü ^óþÄæý$$ ç³§æþ® -†-Væü$-Ç…_ {ÐéÄæý$$-Ðèþ$$. 

15) Explain the menus of M.S Word. 

 G….G‹Ü. ÐèþÆŠÿz Äñý$$MæüP Ððþ$¯èþ*-Ë¯èþ$ ÑÐèþ-Ç…ç³#-Ðèþ$$. 

16) What is a Wizard? Describe the procedure for producing a business letter. 

 ÑgêÆŠÿz A¯èþ-V> HÑ$sìý? JMæü ÐéÅ´ëÆæÿ ÌôýQ¯èþ$ {´÷yæþ*Å‹Ü ^óþÄæý$$ ç³§æþ®-†° ÐèþÇ~…ç³#-Ðèþ$$. 

17) What are Formatted Reports? Describe the procedure to generate formatted reports. 

 ¸ëÆ>Ã-sñýyŠþ Ç´ù-Ææÿ$tË$ A…sôý HÑ$-sìý? ¸ëÆ>Ã-sñýyŠþ Ç´ù-Ææÿ$t-Ë¯èþ$ E™èþµ™èþ²… ó̂þÄæý$$ ç³§æþ®-†° ÑÐèþ-Ç…ç³#-Ðèþ$$. 

18) Briefly explain Work Sheet formulas with example in spreadsheet. 

 [òÜµyŠþ ïÙsŒýÌZ ÐèþÆŠÿP ïÙsŒý ¸ëÆæÿ$Ã-Ìê‹Ü (çÜ*-{™èþ-Ðèþ$$-Ë$-) Væü$Ç…_ çÜ…„ìü-ç³¢-Ðèþ$$V> ÑÐèþ-Ç…ç³#-Ðèþ$$.  


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                    Section - A (4 × 4 = 16)       Section - A (3 × 5 = 15) 

Answer any Four of the following 

1) Internal reconstruction. 

 A…™èþ-ÆæÿY™èþ ç³#¯èþÆŠÿ °Æ>Ã-×ý-Ðèþ$$. 

2) Revenue Account 

 Æ>ºyìþ Rê™é. 

3) Minority interest. 

 AËµ çÜ…RêÅMæü$Ë BçÜ-Mìü¢. 

4) Liquidation expenses. 

 ç³-Ç-çÜ-Ðèþ*í³¢ QÆæÿ$a-Ë$ 

5) Valuation of shares. 

 -Ðé-sêË Ðèþ$*ÌêÅ…Mæü-̄ èþ-Ðèþ$$. 

6) Purchase consideration. 

 Mö¯èþ$-VøË$ {ç³†-çœ-Ë-Ðèþ$$. 

7) Net Assets Method. 

 °-MæüÆæÿ BçÜ$¢Ë ÑË$Ðèþ ç³§æþ®-†. 

8) Rules and regulations for issuing bonus shares. 

 »Z è̄þ‹Ü õÙÆæÿ$Ï gêÈ- °Äæý$Ðèþ*Ë$ Ðèþ$Ç-Äæý$$ °º…«§æþ-̄ èþ-Ë$. 

                    Section – B (2 × 8 = 16)  

Answer any Two of the following 

 

9) Explain the need for accounting standards. 

 AMú…sìý…VŠü {ç³Ðèþ*-×êË BÐèþ-ÔèýÅ-Mæü-™èþ¯èþ$ ÑÐèþ-Ç…ç³#-Ðèþ$$. 



 

10)  The following particulars are available in respect of the business by Ramana.  

a) Capital Employed – Rs. 50,000. 

b) Trading results  

 1989 profit Rs. 12,200 1990 profit Rs. 15,000 

 1991 loss  Rs.   2,000 1992 profit Rs. 21,000 

c) Market rate of interest on investments – 8%. 

d) Rate of risk return on capital invested in business – 2%  

e) Remuneration from alternative Employment of the proprietor (if not engaged in business) – 

Rs. 3,600 P.A.    

You are required to compute the value of goodwill in the basis of 3 years purchase of super 

profits of the business. Calculate on the average profits of the last four years. 

D {Mìü…¨ CÐèþÓ-º-yìþ¯èþ ÆæÿÐèþ$×ý ÐéÅ´ë-Ææÿ…ÌZ Ë¿æýÅ-Ðèþ$Äôý$Å B«§éÆæÿ ÑÐèþ-Æ>-Ë$. 

a) -Ðèþ$*-Ë-«§æþ¯èþ… & Ææÿ*. 50,000. 

b) ÐèþÆæÿ¢Mæü ÑÐèþ-Æ>Ë$ 

 1989  Ìê¿æý…   Ææÿ*. 12,200,  1990 Ìê-¿æý…  Ææÿ*.15,000 

 1991  ̄ èþçÙt…   Ææÿ*. 2,000,  1992 Ìê-¿æý…  Ææÿ*.21,000    

c) ò³r$t-º-yæþ$-Ëò³O Ðèþyîþz Ðèþ*ÆðÿPsŒý Æóÿr$ & 8% 

d) ÐéÅ´ë-Ææÿ…ÌZ Ðèþ$*Ë-«§æþ¯èþ ò³r$t-º-yìþò³O ÇçÜP-Æóÿr$ & 2%     

e) Äæý$f-Ðèþ*° ç³° °ÆæÿÓ-çßý×ý C_a¯èþ Ððþ$$™èþ¢… Ææÿ*. 3,600 P.A.  

 (ÐéÅ-́ ëÆæÿ °ÆæÿÓ-çßý×ý M>Mæü$…yé-). 

ò³O ÑÐèþ-Æ>Ë è̄þ$…yìþ 4 çÜ…||Æ>Ë (ÐéÅ-́ ë-Ææÿ…ÌZ çÜ*ç³ÆŠÿ Ìê¿êË$ ÌñýMìüP…ç³#-)-çÜ-Æ>-çÜÇ° Ìê¿êË$ 3 çÜ…Ðèþ-™èþÞ-Æ>Ë Mö¯èþ$-
Vøâæý$å {ç³†çœË… §éÓÆ> Væü$yŠþ-Ñ-ÌŒý¯èþ$ Mæü¯èþ$Vö° ÑË$-Ðèþ¯èþ$ °Ææÿ~-Æÿ$$…^èþ…yìþ. 

11)     A life Insurance Company gets its valuation for two years. The Life Insurance Fund balance as on 

31.3.2010 was Rs. 41,40,000. Before providing Rs. 30,000 for shareholders dividend for the year 

2009-10. The Net Liability as on 31.3.2010 was  Rs. 40,40,000. During the last two years interim 

dividend of Rs. 60,000 was paid. Prepare a statement showing the amount now available as bonus 

to shareholders.  

 JMæü iÑ™èþ ÁÐèþ* çÜ…çÜ¦ {ç³† Æðÿ…yæþ$ çÜ…Ðèþ-™èþÞ-Ææÿ-Ðèþ$$-ËMæü$ Ðèþ$*ÌêÅ…Mæü¯èþ ^óþÄæý$$-̂ èþ$-̄ èþ²¨. 31.3.2010 ¯ésìýMìü iÑ™èþ ÁÐèþ*   °«̈  

Ææÿ*. 41,40,000 Ðèþ#¯èþ²¨. C…§æþ$ÌZ Ææÿ*. 30,000 Ðésê-§é-Ææÿ$Ë yìþÑ-yðþ…yæþ$ 2009&10 çÜ…Ðèþ-™èþÞ-Æ>-°MìüV>¯èþ$ ^ðþÍÏ…^èþ-º-yìþ-

¯èþ¨. çÜÆæÿ$ª-»ê-r$Mæü$ ç³NÆæÿÓ-Ðèþ$$V> Væü$Ç¢…^èþ-º-yìþ-̄ èþ¨. 31 Ðèþ*Ça 2010 ¯ésìý °MæüÆæÿ º$$×ý »ê«§æþÅ™èþ Ææÿ*. 40,40,000. Væü™èþ 

Æðÿ…yæþ$ çÜ…Ðèþ-™èþÞ-Ææÿ-Ðèþ$$-Ë-Mæü$-V>¯èþ$ Ðèþ$«§æþÅ M>ÍMæü yìþÑ-yðþ…yæþ$ Ææÿ*. 60,000 ^ðþÍÏ…_-̄ é-Ææÿ$. ò³O ÑÐèþ-Ææÿ-Ðèþ$$-Ë¯èþ$ B«§é-Ææÿ-Ðèþ$$V> ó̂þçÜ$-

Mö°, Ðésê-§é-Ææÿ$Ë »Z è̄þ-çÜ$Mæü$ Ë¿æýÅ-Ðèþ$Væü$ °ËÓ¯èþ$ ÌñýMìüP…^èþ…yìþ  



 

12) From the following data : Compute the “Net assets” value of each category of Equity shares of „Z‟ 

Ltd.   

 Share holders fund : 

 1000 „A‟ Equity shares of Rs. 100 each fully paid up 

 1000 „B‟ Equity shares of Rs. 100 each, Rs. 80 paid up 

 1000 „C‟ Equity shares of Rs. 100 each, Rs. 50 paid up 

 Retained Earnings Rs. 90,000 

 ¨Væü$Ðèþ çÜÐèþ*-̂ é-Ææÿ… çÜà-Äæý$…™ø 2 ÍÑ$-sñýyŠþ ÐéÇ {ç³† DMìüÓsîý Ðésê ÆæÿM>-°Mìü °MæüÆæÿ BçÜ$¢Ë ÑË$Ðèþ Mæü¯èþ$-Vö-̄ èþ…yìþ. 

 -Ðé-sê-§é-Ææÿ$ËMæü$ °«̈  :  

 1000 DMìüÓsîý ÐésêË$, JMöP-MæüPsìý ç³NÇ¢V> Ææÿ*. 100 

 1000 DMìüÓsîý ÐésêË$, JMöP-MæüPsìý Ææÿ*. 100, Ææÿ*. 80 ^ðþÍÏ…^èþ-º-yìþ-̄ èþ-Ñ.  

 ” 2 Vø{§óþgŒý & Co. ¯èþ$…yìþ çœÇ² è̂þÆŠÿ Mö¯èþ$VøË$ Ææÿ*. 20,000. 

  1000 DMìüÓsîý ÐésêË$, JMöP-MæüPsìý Ææÿ*. 100, Ææÿ*. 50 ^ðþÍÏ…^èþ-º-yìþ-̄ èþ-Ñ. 

  °Íí³ E…_¯èþ B§éË$ Ææÿ*. 90,000.  

                   Section - C (3 × 16 = 48)  

Answer any Three of the following 

13) Not So Well Ltd. went into voluntary liquidation. The liquidator is entitled to as commission of 

2% on the amount realized on assets and 2% on the amount realized distributed to unsecured 

Creditors other than Preferential Creditors. 

    Rs. 

 Unsecured Creditors 2,24,000 

 Preferential Creditors 70,000 

 Debentures 75,000 

 The assets realized as follows : 

 Cash in hand 20,000 

 Land and Buildings 1,30,000 

 Plant and Machinery 1,10,500 

 Fixtures 7,500 

 The liquidation expenses amount to Rs. 2,000. A call of Rs. 2 per share on the partly paid 10,000 

Equity shares was made and duly paid concept in case of one share holder owing 500 shares.  

 Prepare Liquidation final statement. 

 Not So Well Limited C^ée-ç³N-ÆæÿÓMæü ç³Ç-çÜ-Ðèþ*-í³¢ÌZ E…¨. ÍMìüÓ-yóþ-rÆæÿ$ BçÜ$¢Ë ÐèþçÜ*-âæýåò³O 2% Ðèþ$ÇÄæý$$ àÑ$-Ìôý° º$$×ý-

§é-™èþ-ËMæü$ ^ðþÍÏ…_¯èþ (B-«̈ -MæüÅç³# º$$×ý-§é-™èþË Ñ$ è̄þ-çßý) §é°ò³O 2% MæüÒ$-çÙ-̄ ŒþMæü$ AÆæÿ$á-yæþ$.  



 

    Ææÿ*.  

 àÒ$-Ìôý° º$$×ý-§é-™èþ-Ë$ 2,24,000 

 B« -̈MæüÅç³# º$$×ý-§é-™èþ-Ë$ 70,000 

 yìþ»ñý…^èþ-Ææÿ$Ï 75,000 

 BçÜ$¢Ë ÐèþçÜ*Ë$ {Mìü…¨ Ñ«§æþ-Ðèþ$$V> E¯èþ²¨ :  

 ^óþ†ÌZ ¯èþVæü-§æþ$ 20,000 

 ¿æý*Ñ$ ¿æýÐèþ-̄ é-Ë$ 1,30,000 

 ´ëÏ…r$, Äæý$…{™èþ… 1,10,500 

 Eç³-Mæü-Ææÿ-×ê-Ë$ 7,500  

 ç³ÇçÜÐèþ*í³¢ QÆæÿ$aË$ Ææÿ*. 2,000 ´ë„ìü-Mæü…V> ^ðþÍÏ…_¯èþ 10,000 DMìüÓsîý Ðésê-Ëò³O ÐésêMæü$ Ææÿ*. 2Ë$ ð̂þÍÏ…^èþ-Ðèþ$° MøÆæÿV> 

500 ÐésêË$ MæüË Ðésê-§é-Ææÿ$yìþ Ñ$¯èþçßý Ñ$W-Í¯èþ ÐéÇMìü Ý÷Ðèþ$$Ã ^ðþÍÏ…_-̄ èþ-ÐéÆæÿ$. ÍMìüÓ-yóþ-r-Ææÿ$Mæü$ BQÇ °Ðóþ-̈ Mæü ™èþÄæý*Ææÿ$ 

^óþÄæý$…yìþ.  

 

14) The following is the balance sheet of X Company Ltd. as on 31.3.2003. 

   Liabilities Rs.   Assets Rs. 

  Share capital issued and paid up:  Goodwill 20,000 

 25,000 preference share of  

 Rs. 10 each. 2,50,000 Leasehold premises 1,07,000 

 25,000 equity shares of Rs.10 2,50,000 Plant and Machinery 60,000 

 Sundry Creditors 40,000 Patents  1,73,900 

 Bank overdraft 36,000 Stocks  34,000 

     Debtors 56,000 

     Cash  100 

     Preliminary expenses 2,000 

     Profit and Loss a/c 1,23,000 
  

    5,76,000   5,76,000 

 

 The company proved unsuccessful and resolution were passed to carry out the following scheme 

of reconstruction of reduction of capital. 

 a) That the preference shares be reduced to an equal number of fully paid should of Rs. 5 each. 

 b) That the equity shares be reduced to an equal number of fully paid shares of   Rs. 2.50 each. 

 c) That the amount available to be utilized towards wiping out losses and reduction of assets as 

follows :  



 

  Preliminary expenses, goodwill and profit and loss account to be written off entirely, Rs. 

27,000 to be written off on leasehold premises, Rs. 14,000 to be written off on stock and Rs. 

6,000 to be provided for doubtful debts, and the balance be written off on patents make 

journal entries in the books of the company on prepare the balance sheet after 

reconstruction.  

 31.3.2003¯èþ X Mæü…ò³± ÍÑ$-sñýyŠþ ÐéÇ BíÜ¢ Aç³šË ç³sìýa ¨Væü$Ðèþ ±Äæý$-º-yìþ-̄ èþ-¨. 

   Aç³š-Ë$  -Ææÿ*.   -B-çÜ$¢-Ë$  Ææÿ*. 

 gêÈ-̂ óþ-íÜ¯èþ ^ðþÍÏ…_¯èþ Ðèþ$*Ë-«§æþ-̄ èþ… :  Væü$yŠþ-Ñ-ÌŒý  20,000  

 25,000 DMìüÓsîý ÐésêË$ Ææÿ*. 10 ^öç³š¯èþ 2,50,000 MúË$-§éÇ BÐèþ-Ææÿ-×ý-Ðèþ$$-Ë$ 1,07,000 

 25,000 B« -̈MæüÅç³# ÐésêË$ Ææÿ* 10 ^öç³š-̄ èþ2,50,000 ´ëÏ…r$, Äæý$…{™é-Ë$ 60,000 

 º$$×ý§é™èþ-Ë$ 40,000 õ³sñý…r$Ï  1,73,000 

 »ê…Mæü$ KÐèþÆŠÿ {yéç³#t 36,000 çÜÆæÿ$-Mæü$  34,000 

     º$$×ý-{Væü-çÜ$¢-Ë$ 56,000 

     ¯èþVæü-§æþ$  100 

     {´ë«§æþ-Ñ$Mæü QÆæÿ$a-Ë$ 2,000 

     Ìê¿æý-̄ èþ-ÚëtË Rê™é 1,23,000  

    5,76,000   5,76,000 

 Mæü…ò³± ÐéÅ´ë-Ææÿ…ÌZ Ñf-Äæý$-Ðèþ…™èþ… M>ÌôýMæü, Ðèþ$*Ë-«§æþ¯èþ ™èþWY…ç³# §éÓÆ> ¨Væü$Ðèþ ç³#¯èþ-Ç²-Æ>Ã×ý ç³«§æþ-M>°² AÐèþ$Ë$ ç³Ææÿ$-̂ èþ$-rMæü$  

 ¡-Æ>Ã-°…_…¨. 

 a) B« -̈MæüÅç³# Ðésê-Ë¯èþ$ A§óþ çÜ…QÅ-VæüË ç³NÇ¢V> ^ðþÍÏ…_¯èþ Ææÿ*. 5 ÑË$Ðèþ VæüË ÐésìýV> ™èþWY…^èþ-yæþ-Ðèþ$$.  

 b) D-MìüÓsîý Ðésê-Ë¯èþ$ A§óþ çÜ…QÅ-VæüË ç³NÇ¢V> ^ðþÍÏ…_¯èþ Ææÿ*. 2.50 ÑË$Ðèþ VæüË ÐésêV> ™èþWY…^èþ-yæþ-Ðèþ$$.  

c) ò³O Ñ«§æþ…V> Ðésê-Ë-̄ èþ$…yìþ Ë¿æýÅ-Ððþ$Ō èþ Ððþ$$™é¢°² ¯èþÚët-Ë¯èþ$ Ææÿ§æþ$ª ^óþÄæý$-yé-°Mìü ¨Væü$Ðèþ õ³ÆöP¯èþ² Ñ«§æþ…V> BçÜ$¢-Ë¯èþ$ Ææÿ§æþ$ª 

^óþÄæý$-yé-°Mìü Eç³-Äñý*-W…^èþ-Ðèþ-ËíÜ Äæý$$¯èþ²-̈ . 

 {´ë£æþ-Ñ$Mæü QÆæÿ$eË$, Væü$yŠþ-ÑÌŒý, Ìê¿æý-̄ èþ-ÚëtË Rê™é °ËÓ-Ë¯èþ$ ç³NÇ¢V> Ææÿ§æþ$ª-̂ óþçÜ*¢, MúË$-§éÇ BÐèþ-Ææÿ-×ê-Ë-̄ èþ$…yìþ     Ææÿ*. 

27,000, çÜÆæÿ$-Mæü$-̄ èþ$…yìþ Ææÿ*. 14,000 ™èþWY…^èþ-yé-°Mìü §é° »êMîü-ËMæü$ Ææÿ*. 6,000 HÆ>µr$ ^óþÄæý$-yé-°Mìü  Ñ$W-Í¯èþ 

§é°° õ³sñý…r$Ï ™èþWY…^èþ-yé-°Mìü Ñ°-Äñý*-W…^èþ-Ðèþ-Ìñý¯èþ$. 

 Mæü…ò³± ç³#çÜ¢-M>-ËÌZ _sêt-ç³-§æþ$ªË$ {ÐéíÜ, ç³#¯èþ-Ç²-Æ>Ã-×ê-̄ èþ…™èþÆæÿ… E…yóþ BíÜ¢ Aç³šË ç³sîýt° ^èþ*ç³…yìþ.  



 

15)  From the following information, prepare Profit and Loss account of Suresh Bank Limited for the 

year ended 31
st
 March 2006. 

    Rs. 

 Interest on loan 6,00,000 

 Interest on fixed deposits 5,50,000 

 Commission 20,000 

 Salaries and allowance  3,00,000 

 Exchange and brokerage 40,000 

 Taxes and Insurance 20,000 

 Interest on overdrafts 60,000 

 Rent  30,000 

 Directors fee 60,000 

 Interest on cash creditors 4,80,000 

 Interest on SB deposits 1,74,000 

 Postage and telegrams 20,000 

 Sundry Expenses 20,000 

 Discount on bills 3,04,000 

 Stationery and printing 40,000 

 Audit fee 20,000 

 Additional Information :  

 a) Rebate on bill discounted Rs. 15,000. 

b) Bad debts Rs. 20,000. 

c) Income tax provision 55%. 

d) 10% dividend (on capital Rs. 10,00,000)  

 D {Mìü…¨ C_a¯èþ çÜ$Æóÿ‹Ù »ê…Mæü$ ÐéÇ çÜÐèþ*-̂ é-ÆæÿÐèþ$$ ¯èþ$…yìþ 31.03.06 ™ø A…™èþ-Ðèþ$Äôý$Å çÜ…Ðèþ-™èþÞ-Æ>-°Mìü Ìê¿æý-̄ èþ-ÚëtË Rê™é 

°Ðóþ-̈ -Mæü¯èþ$ ™èþÄæý*Ææÿ$ ^óþÄæý$…yìþ. 

    Ææÿ*.  
 A-ç³šò³O üÐèþ-yîþz 6,00,000 

 íœMðüÞyŠþ yìþ´ë-h-rÏò³O Ðèþyîþz 5,50,000 

 MæüÒ$-çÙ-̄ Œþ 20,000 

 i™éË$, AË-Ððþ-̄ èþ$Þ-Ë$ 3,00,000 

 GMðüÞ…h, {»ZMæü-Æóÿ-h 40,000 

 ç³¯èþ$²Ë$, ÁÐèþ* 20,000 

 KÐèþÆŠÿ {yéç³#tò³O Ðèþyîþz 60,000 

 A§ðþª  30,000 

 yðþOÆðÿO-MæütÆæÿÏ ïœk 60,000 



 

 M>Å‹Ù {Mðüyìþ-sŒýò³O Ðèþyîþz 4,80,000 

 SB yìþ´ë-h-rÏò³O Ðèþyîþz  1,74,000 

 ´ùõÜti, sñýÍ-{V>-Ðèþ$$-Ë$ 20,000 

 ÑÑ«§æþ QÆæÿ$a-Ë$ 20,000 

 ¼Ë$Ï-Ëò³O yìþÝûP…sŒý 3,04,000 

 Ðèþ$${§æþ×ý, õÜtçÙ-̄ èþ-È 40,000 

 ByìþsŒý ïœk 20,000 

 A§æþ-̄ èþç³# çÜÐèþ*-̂ é-Ææÿ-Ðèþ$$.  

 a) yìþÝûP…sŒý ^óþíÜ¯èþ ¼Ë$Ï-Ëò³O ™èþWY…ç³# Ææÿ*. 15,000 

b) Æ>°-»ê-MîüË$ Ææÿ*. 20,000. 

c) B§é-Äæý$ç³# ç³¯èþ$² HÆ>µr$ 55% 

d) yìþÑ-yðþ…yæþ$Ï 10% (Ðèþ$*-Ë-«§æþ-̄ èþÐèþ$$ Ææÿ*. 10,00,000)   

 

16)    Rahiman Co. Ltd. was incorporated on 1
st
 May 2010 to take over the business of a going concern 

from 1
st
 January of the same year. The total turnover for the year ending 31

st
 December was Rs. 

4,00,000 namely Rs. 1,20,000 upto May 1
st
 and  Rs. 2,80,000 for the following period. The profit 

and loss account details are given below. Ascertain the profit prior to incorporation and also 

divisible profits. Gross profit Rs. 1,40,000 

      Rs. 

 Rent, Rates   6,480 

 Lighting   4,080 

 Director fee  4,000 

 Office expenses  4,800 

 Carriage outward  6,000 

 Repairs   2,760 

 Interest on loan  2,400 

 Insurance    1,440 

 Salaries   15,600 

 Sales commission 20,000 

 Sales discount  10,000 

 Bank charges  840 

 Bad debts   1,200 

 Net profit   60,400 



 

 Ææÿíßý-Ðèþ*¯Œþ & Mæü…ò³± Ðóþ$ 1, 2010 ¯éyæþ$ è̄þÐðþ*§ðþO A§óþ çÜ…Ðèþ-™èþÞ-Ææÿ¯èþ$ f¯èþ-ÐèþÇ 1¯èþ JMæü ÐéÅ´ë-Æ>°² Mö¯èþ$-VøË$ ^óþíÜ…¨. 

yìþòÜ…ºÆæÿ$ 31 ¯ésìýMìü Ððþ$$™èþ¢Ðèþ$$ AÐèþ$Ã-M>-Ë$ Ææÿ*. 4,00,000. C…§æþ$ÌZ Ðóþ$ 1 ÐèþÆæÿMæü$ Ææÿ*. 1,20,000 V>¯èþ$, ™èþÆæÿ$ -Ðé™èþ 

M>Ìê-°Mìü Ææÿ*. 2,80,000V>¯èþ$ E¯èþ²¨. Ìê¿æý-̄ èþ-ÚëtË Rê™éMæü$ çÜ…º…«̈ …_¯èþ ÑÐèþ-Ææÿ-Ðèþ$$Ë$ {Mìü…¨ Ñ«§æþ-Ðèþ$$V> Ðèþ#¯èþ²¨. ò³O A…Ôèý -

Ðèþ$$-Ë¯èþ$ B«§é-Ææÿ-Ðèþ$$V> ^óþçÜ$-Mö° ¯èþÐðþ*-§æþ$Mæü$ ç³NÆæÿÓÐèþ$$ Ìê¿ê°² Ðèþ$ÇÄæý$$ Ñ¿ê-f-±Äæý$ Ìê¿ê-Ë¯èþ$ ÌñýMìüP…^èþ…yìþ. çÜ*¦Ë 

Ìê¿æýÐèþ$$ Ææÿ*. 1,40,000. 

      Ææÿ*. 

 A§ðþª, Æóÿr$Ï   6,480 

 ÐðþË$-™èþ$-Ææÿ$   4,080 

 yðþOÆðÿ-MæütÆæÿ$ ïœk   4,000 

 BïœçÜ$ QÆæÿ$e-Ë$  4,800 

 AÐèþ$Ã-Mæüç³# ÆæÿÐé-×ê  6,000 

 Ðèþ$Ææÿ-Ðèþ$Ã-™èþ$¢-Ë$   2,760 

 Aç³šò³O Ðèþyîþz   2,400 

 ÁÐèþ*    1,440 

 i™é-Ë$   15,600 

 AÐèþ$Ã-Mæüç³# MæüÒ$-çÙ-̄ Œþ  20,000 

 AÐèþ$Ã-Mæüç³# yìþÝûP…sŒý  10,000 

 »ê…Mæü$ QÆæÿ$a-Ë$  840 

 Æ>° »êMîü-Ë$   1,200 

 °MæüÆæÿ Ìê¿æý-Ðèþ$$   60,400  

 

17)    On 1
st
 April 2000 a company issued debentures for Rs. 1,00,000 redeemable at par at the end of 5 

years and it was resolved that a sinking fund should be formed and invested in tax free securities, 

assuming that the interest received on the investments was at the rate of 5 percent  on cost, that the 

interest was received yearly and immediately invested and that the investments were realized at a 

loss of Rs. 300 at the end of five years. 

 Reference to the sinking fund table shows that Rs. 0.180975 invested at the end of year, at 5% 

compound interest will produce Rs. 1 at the end of 5 years. 

 Prepare sinking fund account and sinking fund investment account.  



 

 1 H{í³ÌŒý 2000 ¯èþ JMæü Mæü…ò³± 5Ðèþ çÜ…Ðèþ-™èþÞÆæÿ… BQ-Ææÿ$¯èþ çÜÐèþ$Ðèþ$*ÌêÅ-°Mìü ÑÐðþ*-̂ èþ¯èþ… ^óþõÜ °Ñ$™èþ¢… Ææÿ*. 1,00,000  

yìþ»ñý…^èþ-ÆæÿÏ̄ èþ$ gêÈ ó̂þòÜ¯èþ$ Ðèþ$ÇÄæý$$ §é° MöÆæÿMæü$ °„óüç³°«̈ ° HÆ>µr$ ó̂þÄæý$-Ðèþ-Ìñý-̄ èþ° °Ææÿ~-Æÿ$$…^ðþ¯èþ$ Ðèþ$ÇÄæý$$ ç³¯èþ$²-Ìôý° òÜMæü*Å-Ç-

sîý-ËÌZ ò³r$t-ºyìþ ò³sñýt̄ èþ$. ò³r$t-º-yæþ$-Ëò³O 5% Ðèþyîþz ÐèþÅÄæý$… ÐèþçÜ$¢…§æþ° Fíßý…_ {ç³† çÜ…Ðèþ-™èþÞÆæÿ… Ðèþyîþz° Ððþ…r¯óþ   ò³r$t-ºyìþ 

ò³sñýt̄ èþ$. I§æþÐèþ çÜ…Ðèþ-™èþÞÆæÿ… BQ-Ææÿ$¯èþ ò³r$t-º-yæþ$Ë$ Ææÿ*. 300 ¯èþçÙt…¯èþMæü$ ÐèþçÜ*-Ë-Æÿ$$-̄ éÆÿ$$. 

 °„óü-ç³-°-«̈  ç³sìýtMæü {ç³M>Ææÿ… I§æþ$ çÜ…Ðèþ-™èþÞ-Ææÿ-Ðèþ$$Ë BQ-Ææÿ$¯èþ 5% ^èþ{Mæü-Ðèþ-yîþz™ø JMæü Ææÿ*´ëÆÿ$$ Æ>Ðèþ-yé-°Mìü {ç³† çÜ…Ðèþ-™èþÞÆæÿ…    BQ-

Ææÿ$¯èþ 0.180975 ò³r$t-ºyìþ ò³sñýt-Ðèþ-Ìñý-̄ èþ° ™ðþÍ-Äæý$-̂ óþ-Äæý$$-̂ èþ$-̄ èþ²-̈ . 

18)    The following March 31, 2004 balance sheet of „A‟ Ltd. And „B‟ Ltd. are given. 

  Liabilities   A Ltd. B Ltd. Assets A Ltd. B Ltd. 

      Rs. Rs.  Rs. Rs. 

 Share Capital :    Goodwill 28,000 15,000 

 Share of Rs. 10 each 1,00,000 60,000 Assets 1,40,000 44,000 

 Profit and Loss a/c 30,000 - Investments :  

        1,000 shares in „B‟ Ltd 12,000 - 

 Creditors   50,000 20,000 1,500 shares in „A‟ Ltd - 16,500 

        Profit and Loss - 4,500 

      1,80,000 80,000  1,80,000 80,000 

 B Ltd. is absorbed by A Ltd. consideration being four shares of A Ltd. For every five shares held 

to „B‟ Ltd. Show Ledger accounts to close the Books of „B‟ Ltd. 

 D {Mìü…¨ CÐèþÓ-º-yìþ¯èþ BíÜ¢&Aç³šË ç³sìýt Ðèþ*Ça 31, 2004 ¯ésìý B ÍÑ$-sñýyŠþ Ðèþ$ÇÄæý$$ A ÍÑ$-sñýyŠþ ÐéÇ-̈ .   

 Aç³š-Ë$    A Ltd. B Ltd. -B-çÜ$¢-Ë$  A Ltd. B Ltd. 

      Ææÿ*. Ææÿ*.  -Ææÿ*. -Ææÿ*. 
 Ðésê Ðèþ$*Ë-«§æþ-̄ èþ…:     Væü$yŠþ-Ñ-ÌŒý  28,000 15,000 

 Ðésê JMæüP…sìýMìü Ææÿ*.10 ^öç³š-̄ èþ1,00,00060,000 BçÜ$¢-Ë$ 1,40,000 44,000 

 Ìê¿æý-̄ èþÚëtË Rê™é  30,000 & ò³r$t ºyæþ$Ë$ : 

 º$$×ý §é™èþ-Ë$   50,000 20,000 1,000 ÐésêË$ B Í.Ñ 12,000 & 

        1,500 ÐésêË$ A Í.Ñ  & 16,500 

        Ìê¿æý ¯èþÚët-Ë$ & 4,500 

      1,80,000 80,000  1,80,000 80,000 

 B ÍÑ$-sñýyŠþ, A ÍÑ$-sñý-yŠþ^óþ çÜ…Î¯èþ… M>º-yìþ…¨. {ç³†-çœ-Ë…V> „B‟ ÍÑ$-sñýyŠþ {ç³† 5 Ðésê-ËMæü$ A ÍÑ$-sñý-yŠþÌZ 4 ÐésêË$ 
CÐèþÓ-º-yæþ-™éÆÿ$$. B ÍÑ$-sñýyŠþ ç³#çÜ¢-M>-Ë¯èþ$ Ðèþ$$W… è̂þ-yé-°Mìü AÐèþ-çÜ-Ææÿ-Ðèþ$-Æÿ$$¯èþ BÐèþÆ>j Rê™é-Ë è̄þ$ ^èþ*ç³…yìþ     

 



 

(DBC 37) 

B.Com. DEGREE EXAMINATION, MAY - 2015 

(Examination at the end of Final Year) 

Part – II : Commerce 

Paper – III :  ADVANCED MANAGEMENT ACCOUNTING 

Time : 03 Hours                                Maximum Marks : 80 

                      Section - A                                        (4 × 4 = 16)  

Answer any Four of the following 

1) Define Management Accounting. 

 °ÆæÿÓ-çßý×ý Væü×ýMæü-Ôé-Ýë°̂² °ÆæÿÓ-_…^èþ…yìþ. 

2) What are the functions of Controller? 

 Mæü…{sZ-ËÆæÿ$ Äñý$$MæüP Ñ«§æþ$Ë$ HÑ$-sìý? 

3) Discuss the objectives of budgetary control. 

 º-yðþj-rÈ °Äæý$…{™èþ×ý E§óþª-ÔéË$ ™ðþË-ç³…yìþ. 

4) Distinguish between fixed and variable expenses. 

 íÜ¦Ææÿ, ^èþÆæÿ ÐèþÅÄæý*Ë Ðèþ$«§æþÅ-VæüË ÐèþÅ™éÅ-çÜ-Ðèþ$$. 

5) Profit-Volume Ratio (P.V. Ratio). 

 -Ìê¿æý, ç³Ç-Ðèþ*×ý °çÙµ†¢ (í³.Ñ. °çÙµ-†¢-) 

6) Explain Idle Time Variance. 

 Ðèþ–«§é-M>Ë Ñ è̂þÆæÿ-×ý¯èþ$ ÑÐèþ-Ç…ç³#-Ðèþ$$. 

7) State  the steps in Standard Costing. 

 {´ëÐèþ*-×ìýMæü M>íÜt…VŠü-ÌZ° §æþÔèýË$ ™ðþË-ç³…yìþ. 

8) Break Even Point (BEP). 

 Ìê¿æý-̄ èþçÙt Ææÿíßý™èþ ¼…§æþ$-Ðèþ# 

 



 

                      Section – B (2 × 8 = 16)  

Answer any Two of the following 

9) What are the objectives and types of Management Information System (MIS)? 

 °ÆæÿÓ-çßý×ý çÜÐèþ*-̂ éÆæÿ Ýë«§æþ-̄ èþÐèþ$$ Äñý$$MæüP E§óþª-ÔéË$ Ðèþ$ÇÄæý$$ ÆæÿM>Ë$ HÑ$-sìý? 

10)  For production of 10,000 Electrical Irons the following are budgeted expenses : 

      Per Unit  

      (in Rs.) 

Direct Material  60 

Direct Labour  30 

Variable overheads 25 

Fixed overheads (Rs. 1,50,000) 15 

Variable expenses (Direct) 5 

Selling expenses (10% fixed) 15 

Administration expenses (Rs. 50,000 fixed) 5 

Distribution expenses (20% fixed) 5 

      Total        160    

Prepare a Budget for production of 7,000 and 8,000 units. 

10,000 GË-[Mìüt-MæüÌŒý IÆæÿ-̄ èþÏ̄ èþ$ E™èþµ†¢ ^óþÄæý$-yé-°Mìü ºyðþj-sŒý- ^óþ-íÜ¯èþ QÆæÿ$aË$ ¨Væü$Ðèþ CÐèþÓyæþ… fÇ-W…¨.  

      Äæý$*°sŒý QÆæÿ$a   

      (Ææÿ*||  ËÌZ-)  

{ç³™èþÅ„æü Ððþ$sîý-Ç-Äæý$-ÌŒýÞ  60 

{ç³™èþÅ„æü {ÔèýÐèþ$   30 

^èþÆæÿ- ç³-Æø„æü QÆæÿ$aË$  25 

íÜ¦Ææÿ ç³Æø-„æü QÆæÿ$a-Ë$ (Ææÿ*. 1,50,000) 15 

^èþÆæÿ {ç³™èþÅ„æü QÆæÿ$a-Ë$  5 

AÐèþ$Ã-Mæüç³# QÆæÿ$aË$ (10%  íÜ¦Ææÿ-Ððþ$O-̄ èþ-Ñ-) 15 

ç³Ç-́ ë-Ë¯é QÆæÿ$aË$ (Ææÿ*. 50,000 íÜ¦Ææÿ-Ððþ$O-̄ èþ-Ñ-) 5 

ç³…í³×îý QÆæÿ$aË$ (20%  íÜ¦Ææÿ-Ððþ$O-̄ èþ-Ñ-) 5 

      Ððþ$$™èþ¢… QÆæÿ$a 160 

 7,000 Äæý$*°r$Ï Ðèþ$ÇÄæý$$ 8,000 Äæý$*°r$Ï E™èþµ†¢ ^óþÄæý$-yé-°Mìü M>Ðèþ-Ë-íÜ¯èþ ºyðþj-sŒý¯èþ$ ™èþÄæý*Ææÿ$ ^óþÄæý$…yìþ-. 



 

11)    From the following data, calculate labour variances:-  

 The budgeted labour force : 

   20 unskilled workers @ Rs. 0.75 per hour for 50 hours. 

   10 skilled workers @ Rs. 1.25 per hour for 50 hours 

 The actual labour force : 

   22 unskilled workers @ Rs. 0.80 per hour for 50 hours. 

   8 skilled workers @ Rs. 1.20 per hour for 50 hours. 
 

 {Mìü…¨ ÑÐèþ-Æ>-Ë-̄ èþ$…yìþ {ÔéÑ$Mæü Ñ^èþ-Ææÿ-×ý-Ë¯èþ$ ÌñýMìüP… è̂þ…yìþ :  

 ºyðþjsŒý ^óþíÜ¯èþ {ÔéÑ$Mæü ÑÐèþ-Æ>Ë$ :  

   20 Ðèþ$…¨ ¯ðþOç³#-×ýÅÐèþ$$ Ìôý°-ÐéÆæÿ$ Væü…rMæü$ Ææÿ*. 0.75 {ç³M>-ÆæÿÐèþ$$ 50 Væü…rË$. 

   10 Ðèþ$…¨ ¯ðþOç³#×ýÅ… MæüË-ÐéÆæÿ$ Væü…rMæü$ Ææÿ*. 1.25 {ç³M>-ÆæÿÐèþ$$ 50 Væü…r-Ë$. 

 ÐéçÜ¢-Ðèþ {ÔéÑ$Mæü ÑÐèþ-Æ>Ë$ :   

   22 Ðèþ$…¨ ¯ðþOç³#-×ýÅ… Ìôý°-ÐéÆæÿ$ Væü…rMæü$ Ææÿ*. 0.80 {ç³M>-ÆæÿÐèþ$$ 50 Væü…rË$ 

   8 Ðèþ$…¨ ð̄þOç³#×ýÅ… VæüË-ÐéÆæÿ$ Væü…rMæü$ Ææÿ*. 1.20 {ç³M>-ÆæÿÐèþ$$ 50 Væü…r-Ë$.  

12) From the following Balance Sheet of Mr. A, prepare schedule of changes in Working Capital and 

a funds flow statement : 

 Liabilities 2012 2013 Assets 2012 2013  

    Rs. Rs.  Rs. Rs. 

 Capital 63,000 1,00,000 Cash 15,000 20,000 

 Long term borrowings 50,000 60,000 Debtors 30,000 28,000 

 Trade Creditors 42,000 39,000 Stock in trade 55,000 72,000 

 Bank overdraft 35,000 25,000 Land & Buildings 80,000 1,00,000 

 Outstanding expenses 5,000 6,000 Furniture 15,000 10,000 

    1,95,000 2,30,000  1,95,000 2,30,000  

 



 

 Ñ$çÜt-ÆŠÿ AMæü$ ^ðþ…¨¯èþ ¨Væü$Ðèþ BíÜ¢ Aç³šË ç³sîýt-̄ èþ$…yìþ, °ÆæÿÓ-çßý×ý Ðèþ$*Ë-«§æþ-̄ èþ…ÌZ Ðèþ*Ææÿ$µË$ ™ðþÍ-Äæý$-gôýõÜ °Ðóþ-̈ Mæü Ðèþ$ÇÄæý$$ °«§æþ$Ë 

{ç³Ðéçßý °Ðóþ-̈ Mæü ™èþÄæý*Ææÿ$ ^óþÄæý$…yìþ.   

 Aç³š-Ë$  2012  2013  BçÜ$¢-Ë$  2012 2013  

   Ðèþ*Ææÿ$µË$  Ðèþ*Ææÿ$µË$   Ðèþ*Ææÿ$µË$ Ðèþ*Ææÿ$µË$ 

    (Ææÿ*|| ËÌZ) (Ææÿ*|| ËÌZ)  -(Ææÿ*|| ËÌZ-) -(Ææÿ*|| ËÌZ-) 
 Ðèþ$*Ë-«§æþ-̄ èþ-Ðèþ$$ 63,000 1,00,000 ¯èþVæü-§æþ$ 15,000 20,000 

 ©Ææÿƒ-M>-ÍMæü Aç³š-Ë$ 50,000 60,000 º$$×ý-{Væü-çÜ$¢-Ë$ 30,000 28,000 

 ÐèþÆæÿ¢Mæü º$$×ý§é™èþ-Ë$ 42,000 39,000 ÐèþÆæÿ¢-Mæüç³# çÜÆæÿ$-Mæü$ 55,000 72,000 

 »êÅ…Mæü$ KÐèþÆŠÿ {yé‹œt 35,000 25,000 ¿æý*Ñ$, ¿æýÐèþ-̄ é-Ë$ 80,000 1,00,000 

 ^ðþÍÏ…^èþÐèþË-íÜ¯èþ ÐèþÅÄæý*-Ë$ 5,000 6,000 çœÈ²-̂ èþ-ÆŠÿ 15,000 10,000 

    1,95,000 2,30,000  1,95,000 2,30,000  

                       Section - C (3 × 16 = 48)  

Answer any Three of the following 

13) What is meant by break-even analysis? Discuss the assumptions and the limitations of this 

technique. 

 {»ôýMŠü&DÐðþ¯Œþ ÑÔóýÏ- çÙ×ý A è̄þ-V>-̄ óþÑ$? D ÑÔóýÏ-çÙ-×ýMæü$ E¯èþ² {ç³Ðóþ$-Äæý*Ë$, ç³Ç-Ñ$-™èþ$-Ë¯èþ$ ÑÐèþ-Ç…^èþ…yìþ.  

 

14) Sankeerth Ltd. is considering the purchase of a machine. Two machines X and Y are available in 

the market and each having an initial cost of Rs. 2,50,000. The expected life period is 5 years each. 

Earnings after depreciation but before taxation is estimated to be as follows : 

   Year Machine X (Rs.) Machine Y (Rs.) 

   1 1,50,000 75,000 

   2 1,75,000 2,00,000 

   3 2,25,000 3,50,000 

   4 2,00,000 2,00,000 

   5 1,80,000 1,00,000 

 Assuming 50% tax per annum and a discount rate of 10% which machine should be purchased 

basing on 

a) Average Rate of Return and 

b) Net Present value methods. 
 

Value of Rupee at 10% discount rate is : I year – 0.9091; II year – 0.8264; III year – 0.7513;     IV year – 

0.6830; V year – 0.6209. 



 

 çÜ…MîüÆŠÿ¢ ÍÑ$-sñýyŠþ JMæü Äæý$…{™é°² Mö¯é-Ë° BÌZ-_-çÜ$¢-̄ èþ²¨. JMöP-MæüPsìý Ææÿ*. 2,50,000 ÑË$Ðèþ VæüË X, Y A ó̄þ Æðÿ…yæþ$ 

Äæý$…{™éË$ Ðèþ*ÆðÿPr$Ï ËÀ-çÜ$¢-̄ é²Æÿ$$. A… è̂þ¯é ÐóþíÜ¯èþ Äæý$…{™éË iÑ-™èþ-M>-ËÐèþ$$ 5 çÜ…Ðèþ-™èþÞ-Ææÿ-Ðèþ$$Ë$ (J-MöP-MæüP-§é-°-Mìü) ç³¯èþ$²Mæü$ 

Ðèþ$$…§æþ$, ™èþÆæÿ$-Væü$-§æþË ¡íÜ-Ðóþ-íÜ¯èþ ™èþÆæÿ$-Ðé™èþ BÆæÿj-̄ èþË$ {Mìü…¨ Ñ«§æþ…V> E¯é²-Æÿ$$.  

   çÜ…Ðèþ-™èþÞ-Ææÿ-Ðèþ$$  Äæý$…{™èþ-Ðèþ$$  X (Ææÿ*) Äæý$…{™èþ-Ðèþ$$  Y (Ææÿ*) 

   1 1,50,000 75,000 

   2 1,75,000 2,00,000 

   3 2,25,000 3,50,000 

   4 2,00,000 2,00,000 

   5 1,80,000 1,00,000 

çÜ…çÐèþ-™èþÞ-Æ>-°-Mìü 50% ç³¯èþ$² Æóÿr$, 10% yìþÝûP…sŒý Æóÿr$V> ¿êÑ-çÜ*¢ (a) çÜVæür$ Æ>ºyìþ Æóÿr$ (b) °MæüÆæÿ {ç³çÜ$¢™èþ ÑË$Ðèþ       

ç³§æþ®-™èþ$Ë B«§é-Ææÿ…V> H Äæý$…{™èþÐèþ$$ Mö è̄þ$-VøË$ ^óþÄæý*Í? 10% yìþÝûP…r$- Æóÿr$ Ðèþ§æþª Ææÿ*´ëÆÿ$$ ÑË$Ðèþ 1Ðèþ çÜ…|| & 

0.9091;    2Ðèþ çÜ…|| & 0.8264; 3Ðèþ çÜ…|| & 0.7513;  4Ðèþ çÜ…|| & 0.6830; 5Ðèþ çÜ…|| & 0.6209.  
 

15)  From the following figures prepare Raw Materials Purchase Budget for January 2014. 

      Materials (in units) 

    A B C D E F 

 Estimated Stock 

 on 1
st
 January 16,000 6,000 24,000 2,000 14,000 28,000 

 Estimated Stock 

 on 31
st
 January 20,000 8,000 28,000 4,000 16,000 32,000 

 Estimated  

 consumption  1,20,000 44,000 1,32,000 36,000 88,000 1,72,000 

 Standard Price 

 per unit Rs.1.25p 0.25p 0.75p 0.50p Rs.1.00 Rs.1.50p  

 

  D {Mìü…¨ C_a è̄þ ÑÐèþ-Æ>-Ë-̄ èþ$…yìþ 2014 f¯èþ-ÐèþÇ ¯ðþËMæü$ Ðèþ$$yìþ çÜÆæÿ$Mæü$ Mö¯èþ$-VøË$ ºyðþjsŒý ™èþÄæý*Ææÿ$ ^óþÄæý$…yìþ. 

     Ðèþ$$yìþ ç³§é-Æ>¦Ë$ (Äæý$*-°-rÏ-ÌZ) 
     A B C D E F 

 f¯èþ-ÐèþÇ 1¯èþ A… è̂þ-̄ é  
 ÐóþíÜ¯èþ çÜÆæÿ$-Mæü$ 16,000 6,000 24,000 2,000 14,000 28,000   
 f¯èþ-ÐèþÇ 31¯èþ A… è̂þ-̄ é 
 ÐóþíÜ¯èþ çÜÆæÿ$Mæü$ 20,000 8,000 28,000 4,000 16,000 32,000 
 A… è̂þ-̄ é-Ðóþ-íÜ-̄ èþ   
 Ñ°-Äñý*-Væü-Ðèþ$$ 1,20,000 44,000 1,32,000 36,000 88,000 1,72,000  
 Äæý$*°-sŒýMæü$ {´ëÐèþ*-×ìýMæü 
 «§æþÆæÿ  Ææÿ*. 1.25ò³O 0.25ò³O 0.75ò³O 0.50ò³O Ææÿ*.1.00 Ææÿ*.1.50ò³O  



 

 

16)    The following information is related to Kakatiya Cements Ltd. 

      Rs. Rs. 

 Sales (10,000 tonnes)  5,00,000 

 Variable costs : Material 1,00,000 

     Labour 50,000 

     Direct Expenses 10,000 1,60,000 

 Fixed cost    3,00,000 

 Profit     40,000 

 

 You are required to find out  

a) Break even point. 

b) P.V. Ratio. 

c) Margin of safety. 

d) Sales required to earn a profit of Rs. 50,000 

e) Profit at a sales level of Rs. 9,00,000. 

 M>Mæü-¡Äæý$ íÜÐðþ$…sŒýÞ ÍÑ$-sñýyŠþ ÐéÇMìü çÜ…º…«̈ …_¯èþ ÑÐèþ-Ææÿ-Ðèþ$$Ë$ D {Mìü…¨ Ñ«§æþ…V> E¯é²-Æÿ$$. 

      Ææÿ*||Ë$  Ææÿ*||Ë$ 
 AÐèþ$Ã-M>Ë$ (10,000 r¯èþ$²-Ë$-)  5,00,000 

 ^èþÆæÿ ÐèþÅÄæý*-Ë$ :  Ðèþ$$yìþ ç³§é-Æ>¦-Ë$ 1,00,000 

     Ðóþ™èþ-̄ é-Ë$ 50,000 

     {ç³™èþÅ„æü QÆæÿ$a-Ë$ 10,000 1,60,000 

 íÜ¦Ææÿ ÐèþÅÄæý*-Ë$    3,00,000 

 Ìê¿æý-Ðèþ$$    40,000 

 D {Mìü…¨ Ðésìý° Mæü¯èþ$-MøP…yìþ :    

a) Ìê¿æý-̄ èþçÙt Ææÿíßý™èþ ¼…§æþ$-Ðèþ#.  

b) í³.Ñ. °çÙµ-†¢ 

c) Ææÿ„æü×ý AÐèþ«̈  

d) Ææÿ*. 50,000 Ìê¿æýÐèþ$$ BÇj…^èþ-yé-°Mìü fÆæÿ$ç³ÐèþË-íÜ¯èþ AÐèþ$Ã-M>Ë$ 

e) AÐèþ$Ã-M>Ë$ Ææÿ*. 9,00,000 AÆÿ$$-̄ èþ-ç³#yæþ$ Ìê¿æý-Ðèþ$$. 

 



 

17)    From the following information you are required to estimate the net working capital : 

    Cost per unit 

    Rs. 

 Raw materials 400 

 Direct labour 150 

 Overheads (excluding depreciation) 300 

    Total cost 850  

 
 

 Additional Information : 

 Selling Price Rs. 1,000 per unit 

 Output 52,000 units per annum 

 Raw material in stock average 4 weeks 

 Work-in-progress average 2 weeks 

 (assume 50% completion stage with full material consumption). 

 Finished goods in stock average 4 weeks 

 Credit allowed by suppliers average 4 weeks 

 Credit allowed to debtors average 8 weeks 

 Cash at bank expected to be  Rs. 50,000 

   Assume that production is sustained at an even pace during the 52 weeks of the year. All 

sales are on credit basis. State any other assumption that you might have made while computing. 

 

 {Mìü…¨ çÜÐèþ*-̂ é-Ææÿ-Ðèþ$$-̄ èþ$…yìþ °MæüÆæÿ °ÆæÿÓ-çßý×ý Ðèþ$*Ë-«§æþ¯èþ AÐèþ-çÜ-Æ>-Ë¯èþ$ ÌñýMìüP… è̂þ…yìþ. 

    -Äæý$*-°sŒý ÐèþÅÄæý$-Ðèþ$$ 
     Ææÿ*||ËÌZ  
 Ðèþ$$yìþ çÜÆæÿ$-Mæü$ 400 

 {ç³™èþÅ„æü Ðóþ™èþ-̄ é-Ë$ 150 

 KÐèþÆŠÿ òßýyŠþÞ (™èþ-Ææÿ$-Væü$-§æþË M>Mæü$…yé-) 300 

   Ððþ$$™èþ¢Ðèþ$$ ÐèþÅÄæý$-Ðèþ$$ 850   

  Total cost 850  

 A§æþ-̄ èþç³# çÜÐèþ*-̂ é-Ææÿ-Ðèþ$$ : 

 AÐèþ$Ã-Mæüç³# «§æþÆæÿ -Äæý$*-°-sŒýMæü* Ææÿ*. 1,000 

 E™èþµ-†¢  çÜ…||°Mìü 52,000 Äæý$*°r$Ï 

 °ËÓÌZ E è̄þ² Ðèþ$$yìþ çÜÆæÿ$-Mæü$ -çÜ-Væü-r$¯èþ 4 ÐéÆ>-Ë$ 



 

 ™èþÄæý*-ÈÌZ E¯èþ² çÜÆæÿ$Mæü$  

 (ç³NÇ¢ Ððþ$sîý-Ç-Äæý$ÌŒý Ñ°-Äñý*-Væü…™ø 50% ç³NÇ¢ AÆÿ$$¯èþ íÜ¦†-) çÜVæü-r$¯èþ 2 ÐéÆ>-Ë$ 

 °ËÓÌZ ™èþÄæý*-ÆðÿŌ èþ çÜÆæÿ$-Mæü$ -çÜ-Væü-r$¯èþ 4 ÐéÆ>Ë$ 

 º$$×ý §é™èþË$ C ó̂þa {Mðüyìþ-sŒý -çÜ-Væü-r$¯èþ 4 ÐéÆ>Ë$ 

 º$$×ý {VæüçÜ$¢ËMìü^óþa {Mðüyìþ-sŒý -çÜ-Væü-r$¯èþ 8 ÐéÆ>Ë$ 

 E…yæþ-Ðèþ-Ë-íÜ¯èþ A…^èþ¯é »êÅ…Mæü$ °ËÓ Ææÿ*. 50,000 

 çÜ…Ðèþ-™èþÞ-Ææÿ-Ðèþ$$ÌZ E è̄þ² 52 ÐéÆ>Ë M>Ë…ÌZ E™èþµ†¢ çÜÐèþ*-̄ èþ…V> E…¨. A°² AÐèþ$Ã-M>Ë$ AÆæÿ$-Ðèþ#-ò³Ō óþ. °ÆæÿÓ-çßý×ý Ðèþ$*Ë-«§æþ-̄ é°² 

A… è̂þ¯é ÐóþçÜ$¢-̄ èþ²-ç³#yæþ$ Ò$ {ç³Ðóþ$-Äæý*-Ë¯èþ$ çÜµïÙt-Mæü-Ç…^èþ…yìþ.  

18)   From the following data calculate various material variances : 

                 Standard                 Actual  

  Materials Quantity (units) Price per  Quantity (units) Price per  

     Unit (Rs.)  unit (Rs.) 

  A  80 8.00 90 7.50 

 B  70 3.00 80 4.00 

    150  170 
  

 ¨Væü$Ðèþ ÑÐèþ-Æ>Ë B«§é-Ææÿ…V> ÑÑ«§æþ Ððþ$sîý-Ç-Äæý$ÌŒý Ñ^èþ-Ææÿ-×ý-Ë¯èþ$ Mæü¯èþ$-MøP…yìþ. 

                 {´ëÐèþ*-×ìý-Mæü                  ÐéçÜ¢-Ñ-Mæü   

  Ððþ$sîý-Ç-Äæý$-ÌŒý  ç³Ç-Ðèþ*-×ý…  Äæý$*°sŒý «§æþÆæÿ  ç³Ç-Ðèþ*-×ý-Ðèþ$$  Äæý$*°sŒý «§æþÆæÿ  
   (Äæý$*-°-rÏ-ÌZ-) -(Ææÿ* ËÌZ-) -(-Äæý$*-°-rÏ-ÌZ-) -(Ææÿ* ËÌZ-)    

  A  80 8.00 90 7.50 
 B  70 3.00  80 4.00 
    150   170    

 

 




